
CHEMISTRY

BOOKS - MODERN PUBLICATION

ALCOHOLS, PHENOLS AND ETHERS

Example

1. Draw the structures of all isomeric alcohols of molecular formula

and give their IUPAC names . 


(b) Classify these isomers as primary secondary and tertiary alcohols .

Watch Video Solution

C5H12O

2. Name the following compound according to IUPAC system :

CH3 − CH
∣

Cl

− CH
∣

CH3

− CH
∣

CH3

− CH2OH

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_d50Uqns4WOP8
https://dl.doubtnut.com/l/_k9XB9pTXcU94


Watch Video Solution

3. Name the following compound according to IUPAC system :

Watch Video Solution

CH3 − CH2 − CH
∣

CH2Cl

−

CH2OH

∣

CH − CH
∣

CH3

− CH3

4. Name the following compound according to IUPAC system :

Watch Video Solution

CH3CH
∣

CH3

− CH2 − CH
∣

OH

−

CH2OH

∣

CH − CH3

5. Name the following compound according to IUPAC system :

Watch Video Solution

H2C = CH − CH
∣

OH

− CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_k9XB9pTXcU94
https://dl.doubtnut.com/l/_fQuGlOtzuyZ4
https://dl.doubtnut.com/l/_eYgAeImwKPak
https://dl.doubtnut.com/l/_70tr3ZqwxUWT


6. Name the following compound according to IUPAC system :

Watch Video Solution

CH3 − C
∣

CH3

= C
∣

Br

− CH2OH

7. Give the structures and IUPAC name of product expected from the

following reaction : Catalytic reduction of butanal.

Watch Video Solution

8. Give the structures and IUPAC name of product expected from the

following reaction : Hydration of propene in the presence of dilute

sulphuric acid.

Watch Video Solution

https://dl.doubtnut.com/l/_70tr3ZqwxUWT
https://dl.doubtnut.com/l/_Evl1cGfV7QBR
https://dl.doubtnut.com/l/_5JFlcjfmaYZL
https://dl.doubtnut.com/l/_05UXMffMu1Uf


9. Give the structures and IUPAC name of product expected from the

following reaction : Reaction of propanone with methyl magnesium

bromide followed by hydrolysis.

Watch Video Solution

10. Use a Grignard’s reagent to prepare the following alcohol : 2-

Phenylbutan-2-ol .

Watch Video Solution

11. Use a Grignard’s reagent to prepare the following alcohol : 3-

Methylpentan-3-ol.

Watch Video Solution

12. Name the reagent used to convert ethyl alcohol to ethene.

https://dl.doubtnut.com/l/_eCluoGLS28SK
https://dl.doubtnut.com/l/_WbhuoZ8FUQde
https://dl.doubtnut.com/l/_3yAtYVqUwEfW
https://dl.doubtnut.com/l/_755lESkRVIZY


Watch Video Solution

13. Write the structural formulae for : 2-methylpropan-2-ol

Watch Video Solution

14. Name the reagent used to convert ethyl alcohol to ethene.

Watch Video Solution

15. Arrange the following compounds in increasing order of boiling point

: 

Propan-1-ol, butan-1-ol, butan-2-ol, pentan-1-ol

Watch Video Solution

https://dl.doubtnut.com/l/_755lESkRVIZY
https://dl.doubtnut.com/l/_TNNwCN3vWEI2
https://dl.doubtnut.com/l/_AXexs8azk7qg
https://dl.doubtnut.com/l/_sQWAKA3cv3Ub


16. Arrange the following compound in order of decreasing acidity. 

Watch Video Solution

17. Name the reagents used in the following reactions : 

Watch Video Solution

CH3COOH
?

−−→ ClCH2 − COOH

18. Name the reagent used in the following reaction : oxidation of primary

alcohol to carboxylic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_Si55S4XPpdjc
https://dl.doubtnut.com/l/_J0chbH0gugIC
https://dl.doubtnut.com/l/_T5YWTaMYr81s


19. Name the reagent used in the following reaction : oxidation of primary

alcohol to an aldehyde.

Watch Video Solution

20. Name the reagent used in the following reaction : butan-2-one to

butan-2-ol.

Watch Video Solution

21. Name the reagent used in the following reaction : cyclohexanone to 1-

ethylcyclohexanol.

Watch Video Solution

22. How is phenol converted into salicylaldehyde ?

Watch Video Solution

https://dl.doubtnut.com/l/_7KSIAJDZjoBA
https://dl.doubtnut.com/l/_C26mcKqcq81A
https://dl.doubtnut.com/l/_9xCIOr42EzwB
https://dl.doubtnut.com/l/_4T2K0Kn6fdMg


23. How Phenol is converted to Benzene ?

Watch Video Solution

24. How is phenol converted into picric acid ?

Watch Video Solution

25. How will you convert Phenol to Benzoic acid ?

Watch Video Solution

26. How will you convert 

phenol into aspirin

Watch Video Solution

https://dl.doubtnut.com/l/_4T2K0Kn6fdMg
https://dl.doubtnut.com/l/_rElwiX1NnFtj
https://dl.doubtnut.com/l/_XrjR1vK8W8X4
https://dl.doubtnut.com/l/_YAkIyGyj9lwU
https://dl.doubtnut.com/l/_fbWiSXNlRdWq
https://dl.doubtnut.com/l/_Wn86qnHc1Eta


27. How will you convert phenol to salicylic acid ?

Watch Video Solution

28. Write the structures of the major products expected from the

following reaction : Mononitration of 3-methyl phenol.

Watch Video Solution

29. Write the structures of the major products expected from the

following reaction : Dinitration of 3-methyl phenol.

Watch Video Solution

30. Write the structures of the major products expected from the

following reaction : Mononitration of phenylethanoate.

Watch Video Solution

https://dl.doubtnut.com/l/_Wn86qnHc1Eta
https://dl.doubtnut.com/l/_f7TyKoGEZc8A
https://dl.doubtnut.com/l/_tIOha9nZ7Ith
https://dl.doubtnut.com/l/_WVKUwpL2d8xi


31. Complete the following reaction : 

Watch Video Solution

CH3CH2CH2C ≡ CH
H2O ,H +

−−−−−→
Hg ( 2+ )

32. Identify X, Y and Z in the following reactions : 

Watch Video Solution

C6H5NH2

NaNO2

−−−−→
HCl

X
CuBr
−−→
HBr

Y
NaOH

−−−−−−−−→
623K ,pressure

Z

33. Benzyl chloride  Benzyl alcohol

Watch Video Solution

→

34. Methyl magnesium bromide  2- Methylpropan -2- ol .

Watch Video Solution

→

https://dl.doubtnut.com/l/_k7RYsmvYdvGT
https://dl.doubtnut.com/l/_uh4MFKmgTGKD
https://dl.doubtnut.com/l/_5aMvZ3QSQ7jn
https://dl.doubtnut.com/l/_JwWFWLTf55dy
https://dl.doubtnut.com/l/_7QhV35Az6lGW


35. How are the following conversions carried out ? 

(i) Propene  Propan -2- ol

Watch Video Solution

→

36. Ethyl magnesium chloride  Propan -1-ol

Watch Video Solution

→

37. How will you obtain phenol from aniline ?

Watch Video Solution

38. How would you obtain the following - 2-Methylpropan-2-ol from

methyl magnesium bromide?

Watch Video Solution

https://dl.doubtnut.com/l/_7QhV35Az6lGW
https://dl.doubtnut.com/l/_pqGMO8xHUCu2
https://dl.doubtnut.com/l/_wEon8s5bxjH8
https://dl.doubtnut.com/l/_otqQlQG8qpct
https://dl.doubtnut.com/l/_jrnlEha1gLhB


39. How would you obtain the following : Propan-2-ol from propene ?

Watch Video Solution

40. How will you convert : Propene to propan-2-ol ?

Watch Video Solution

41. How will you convert : Phenol to 2, 4, 6-tribromophenol ?

Watch Video Solution

42. How will you convert : Propan-2-ol to propanone ?

Watch Video Solution

43. How will you convert : Phenol to 2, 4, 6-tribromophenol ?

https://dl.doubtnut.com/l/_jrnlEha1gLhB
https://dl.doubtnut.com/l/_H32V1BWejNFp
https://dl.doubtnut.com/l/_5imULhGAYyNf
https://dl.doubtnut.com/l/_ys7y85bH8XWb
https://dl.doubtnut.com/l/_FtUi96ASDy1L


Watch Video Solution

44. How will you convert : Propene to propan-1-ol .

Watch Video Solution

45. How will you convert : Ethanal to propan 2-ol.

Watch Video Solution

46. How will you convert : Propan-2-ol to 2-methylpropan-2-ol?

Watch Video Solution

47. How will you convert : Aniline to phenol ?

Watch Video Solution

https://dl.doubtnut.com/l/_FtUi96ASDy1L
https://dl.doubtnut.com/l/_KNt6hnBbQbDS
https://dl.doubtnut.com/l/_As38ZCbnndGx
https://dl.doubtnut.com/l/_wRKxS2dqBfQO
https://dl.doubtnut.com/l/_2rnpY0swggEY
https://dl.doubtnut.com/l/_rK8qrFMuCfTq


48. How will you convert : Ethanol to propanenitrile?

Watch Video Solution

49. How will you convert : Phenol to toluene?

Watch Video Solution

50. How will you convert : Formaldehyde to ethanol ?

Watch Video Solution

51. Express 2817 in roman numbers.

Watch Video Solution

52. Express 2818 in roman numbers.

https://dl.doubtnut.com/l/_rK8qrFMuCfTq
https://dl.doubtnut.com/l/_cx9d52Qh3TWG
https://dl.doubtnut.com/l/_JmERXRUN3AVp
https://dl.doubtnut.com/l/_IlZuzVX06wwV
https://dl.doubtnut.com/l/_ab8Oj6N7JIAv


Watch Video Solution

53. Express 2820 in roman numbers.

Watch Video Solution

54. Express 2821 in roman numbers.

Watch Video Solution

55. Express 2822 in roman numbers.

Watch Video Solution

56. Express 2823 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ab8Oj6N7JIAv
https://dl.doubtnut.com/l/_5Z8nJlnzj87t
https://dl.doubtnut.com/l/_r4yE1l4hU4Ds
https://dl.doubtnut.com/l/_1rBiV00IuKiQ
https://dl.doubtnut.com/l/_eQsuBUvxVwa3
https://dl.doubtnut.com/l/_xRfXZGMdj06G


57. Express 3010 in roman numbers.

Watch Video Solution

58. Express 3000 in roman numbers.

Watch Video Solution

59. Express 3001 in roman numbers.

Watch Video Solution

60. Propose a convenient method for preparing tert-amyl alcohol using a

Grignard reagent .

Watch Video Solution

https://dl.doubtnut.com/l/_xRfXZGMdj06G
https://dl.doubtnut.com/l/_EzSgBlGllYO5
https://dl.doubtnut.com/l/_Y57qzZcfjayh
https://dl.doubtnut.com/l/_XDhf5IMpiPUo


61. Express 3002 in roman numbers.

Watch Video Solution

62. Express 3003 in roman numbers.

Watch Video Solution

63. Express 3005 in roman numbers.

Watch Video Solution

64. Express 3006 in roman numbers.

Watch Video Solution

65. Express 3007 in roman numbers.

https://dl.doubtnut.com/l/_NJ8vfYZbsH4l
https://dl.doubtnut.com/l/_rBSysNcmbBqt
https://dl.doubtnut.com/l/_5zX93jWyN3pK
https://dl.doubtnut.com/l/_XoudoYI0iIVE
https://dl.doubtnut.com/l/_lxSRa5is3tpC


Watch Video Solution

66. How do you account for the fact that unlike phenol, 2,4-dinitrophenol

and 2, 4, 6-trinitrophenol are soluble in aqueous sodium carbonate

solution ?

Watch Video Solution

67. Express 3008 in roman numbers.

Watch Video Solution

68. While separating a mixture of ortho and para nitrophenols by steam

distillation, name the isomer which is more volatile. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_lxSRa5is3tpC
https://dl.doubtnut.com/l/_7EgKQ263PuYW
https://dl.doubtnut.com/l/_mEhWSpMYFqMy
https://dl.doubtnut.com/l/_RbmIwxMvD1vo


69. Express 3011 in roman numbers.

Watch Video Solution

70. Express 3012 in roman numbers.

Watch Video Solution

71. Express 3013 in roman numbers.

Watch Video Solution

72. Express 3015 in roman numbers.

Watch Video Solution

73. Express 3016 in roman numbers.

https://dl.doubtnut.com/l/_1EjNSU09PebZ
https://dl.doubtnut.com/l/_dDEl28Zqvapd
https://dl.doubtnut.com/l/_MmiqNakMcpuC
https://dl.doubtnut.com/l/_n4gSfAxFcAcM
https://dl.doubtnut.com/l/_8lT7sG3y2son


Watch Video Solution

74. An alkoxide is a stronger base than hydroxide ion. Justify.

Watch Video Solution

75.  2-butanol is optically inactive

Watch Video Solution

±

76. Write the IUPAC name of the following compound :

Watch Video Solution

HO − CH2 − CH
∣

CH3

− CH2 − OH

77. Give IUPAC name of the following : CH3OCH2CH
∣

CH3

− CH3

https://dl.doubtnut.com/l/_8lT7sG3y2son
https://dl.doubtnut.com/l/_9F1k0FO1b5TQ
https://dl.doubtnut.com/l/_k2WTzHWF3RJp
https://dl.doubtnut.com/l/_cUjepHm7NOLL
https://dl.doubtnut.com/l/_kl3hZsE7BofJ


Watch Video Solution

78. Give IUPAC name of the following : 

Watch Video Solution

CH3OCH2CH2Cl

79. Give IUPAC name of the following : 

Watch Video Solution

CH3CH2CH2OCH3

80. Express 3017 in roman numbers.

Watch Video Solution

81. Express 3026 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_kl3hZsE7BofJ
https://dl.doubtnut.com/l/_ASBNIVZFy0GD
https://dl.doubtnut.com/l/_Qom4fcIJFM3G
https://dl.doubtnut.com/l/_DQv0YK32dzrG
https://dl.doubtnut.com/l/_v3sO6kqoVUOX
https://dl.doubtnut.com/l/_O13oXbhPssPB


82. Express 3027 in roman numbers.

Watch Video Solution

83. Express 3028 in roman numbers.

Watch Video Solution

84. Express 3030 in roman numbers.

Watch Video Solution

85. Express 3031 in roman numbers.

Watch Video Solution

86. Express 3033 in roman numbers.

https://dl.doubtnut.com/l/_O13oXbhPssPB
https://dl.doubtnut.com/l/_7zfVC6eRqlhC
https://dl.doubtnut.com/l/_X7yyiI9mMTcK
https://dl.doubtnut.com/l/_8U751EfVBHse
https://dl.doubtnut.com/l/_WknhaDVlFDLP


Watch Video Solution

87. Express 3035 in roman numbers.

Watch Video Solution

88. Express 3037 in roman numbers.

Watch Video Solution

89. Which metals are present in monel metal other than copper and

nickel?

Watch Video Solution

90. Express 3038 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_WknhaDVlFDLP
https://dl.doubtnut.com/l/_A6vVeWf4sPtr
https://dl.doubtnut.com/l/_5v72kaeuzBqf
https://dl.doubtnut.com/l/_1PQJ7oNdY8i3
https://dl.doubtnut.com/l/_ldsTAbKJ0aH9


91. Express 3050 in roman numbers.

Watch Video Solution

92. Express 3051 in roman numbers.

Watch Video Solution

93. Express 3052 in roman numbers.

Watch Video Solution

94. Express 3053 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ldsTAbKJ0aH9
https://dl.doubtnut.com/l/_mpK2kjTqEq3T
https://dl.doubtnut.com/l/_a9U3oMrfdWgo
https://dl.doubtnut.com/l/_kaq3Q57PSH8j
https://dl.doubtnut.com/l/_ci9Y3hWwxkSL


95. Which metals are present in German silver other than nickel?

Watch Video Solution

96. Express 3055 in roman numbers.

Watch Video Solution

97. Which metals combine to form Dutch metal alloy?

Watch Video Solution

98. Which metal is present in Magnelium alloy other than aluminium?

Watch Video Solution

99. The Boiling Point of ethers are lower than isomeric alcohols why ?

https://dl.doubtnut.com/l/_jT9vxoOzjfCT
https://dl.doubtnut.com/l/_yNV5axGOtY25
https://dl.doubtnut.com/l/_6jxI2cVDS4ca
https://dl.doubtnut.com/l/_iMoBPX7TCqzo
https://dl.doubtnut.com/l/_AR5Nb87HSA1G


Watch Video Solution

100. Explain why cleavage of phenyl alkyl ethers with HBr always produces

Phenol and alkyl bromide and not bromobenzene and alkanols.

Watch Video Solution

101. Ethers possess a dipole moment even if the alkyl groups in the

molecule are identical. Explain.

Watch Video Solution

102. Why a non symmetrical ether is not prepared by heating a mixture of

ROH and R'OH in acid?

Watch Video Solution

https://dl.doubtnut.com/l/_AR5Nb87HSA1G
https://dl.doubtnut.com/l/_crhBDFlJpcpM
https://dl.doubtnut.com/l/_KReE89RMUOgS
https://dl.doubtnut.com/l/_XWm4roxAl5Pp


103. How do you account for the miscibility of ethoxy ethane with water.

Watch Video Solution

104. Butan-1-ol has a higher boiling point than diethyl ether. Explain

Watch Video Solution

105. What are the characteristics of zinc chloride?

Watch Video Solution

106. Classify the following as primary secondary and tertiary alcohols . 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH2OH

https://dl.doubtnut.com/l/_SbCeKKGZrgWI
https://dl.doubtnut.com/l/_m8DzgQbt3wLr
https://dl.doubtnut.com/l/_VORcvP3xtx7E
https://dl.doubtnut.com/l/_EiUiN8UR6Fe6
https://dl.doubtnut.com/l/_OIa92q5wVEnK


107. Classify the following as primary,secondary and tertiary alcohol

Watch Video Solution

H2C = CH − CH2OH

108. Classify the following as primary,secondary and tertiary alcohols

Watch Video Solution

CH3 − CH2 − CH2 − OH

109. Explain the formation of bronze?

Watch Video Solution

110. Name the following compound according to IUPAC system :

Watch Video Solution

CH3 − CH2 − CH
∣

CH2Cl

−

CH2OH

∣

CH − CH
∣

CH3

− CH3

https://dl.doubtnut.com/l/_OIa92q5wVEnK
https://dl.doubtnut.com/l/_T73P2gCxHT4P
https://dl.doubtnut.com/l/_AsUvKkACmO0P
https://dl.doubtnut.com/l/_Z984k0vVhZy1


111. Name the following compound according to IUPAC system :

Watch Video Solution

CH3CH
∣

CH3

− CH2 − CH
∣

OH

−

CH2OH

∣

CH − CH3

112. Name the following compound according to IUPAC system :

Watch Video Solution

H2C = CH − CH
∣

OH

− CH2 − CH2 − CH3

113. Name the following compound according to IUPAC system :

Watch Video Solution

CH3 − C
∣

CH3

= C
∣

Br

− CH2OH

https://dl.doubtnut.com/l/_Z984k0vVhZy1
https://dl.doubtnut.com/l/_6dbNLwpp1ejf
https://dl.doubtnut.com/l/_agvuj4ODgoH0
https://dl.doubtnut.com/l/_A1xsBO1pjqYb
https://dl.doubtnut.com/l/_dz2Q95HZcs43


114. Show how are the following alcohols prepared by the reaction of a

suitable Grignard reagent on methanal? 

Watch Video Solution

CH3 − CH
∣

CH3

− CH2OH

115. Write structure of the product of the following reaction : 

Watch Video Solution

CH3 − CH = CH2

H2O/H +

−−−−−→

116. Write structure of the product of the following reaction : 

Watch Video Solution

CH3 − CH2 − CH
∣

CH3

− CHO
NaBH4

−−−→

https://dl.doubtnut.com/l/_dz2Q95HZcs43
https://dl.doubtnut.com/l/_RsZdYscFSAbp
https://dl.doubtnut.com/l/_tfrCGuQ623MW


117. Give structure of the products you would expect when the following

alcohol reacts with  .
(i) Butan-1-ol (ii) 2-Methylbutan-2-ol

Watch Video Solution

HCL − ZnCl2

118. Give structure of the products you would expect when the following

alcohol reacts with HBr.
(i) Butan-1-ol (ii) 2-Methylbutan-2-ol

Watch Video Solution

119. Give structure of the products you would expect when the following

alcohol reacts with .
(i) Butan-1-ol (ii) 2-Methylbutan-2-ol

Watch Video Solution

SOCl2

120. Predict the major product of acid catalysed dehydration of (i) 1-

methyl cyclohexanol and (ii) butan-1-ol.

https://dl.doubtnut.com/l/_Ii7dBqLQraJT
https://dl.doubtnut.com/l/_V81D77aopmiC
https://dl.doubtnut.com/l/_O5Atfou0Czas
https://dl.doubtnut.com/l/_CEAeNIlNGkuB


Watch Video Solution

121. Orthonitrophenol and paranitrophenol are more acidic than phenols.

Give reasons.

Watch Video Solution

122. Write the equations involved in the following reaction : Reimer

Tiemann reaction.

Watch Video Solution

123. Write the equations involved in the following reaction : Kolbe’s

reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_CEAeNIlNGkuB
https://dl.doubtnut.com/l/_iY1rZ10jpyQ6
https://dl.doubtnut.com/l/_qOv1dqUzwImh
https://dl.doubtnut.com/l/_8ckMpcWU5LfH


124. Write the reactions of Williamson synthesis of 2-ethoxy-3-

methylpentane starting from ethanol and 3-methylpentan-2-ol.

Watch Video Solution

125. Predict the product of the following reaction : 

Watch Video Solution

CH3 − CH2 − CH2 − O − CH3 + HBr →

126. Predict the product of the following reaction : 

Watch Video Solution

(CH3)3C − OC2H5

HI
−−→

127. Which are the metals present in duralumin alloy?

Watch Video Solution

https://dl.doubtnut.com/l/_F2K9295U2Ibs
https://dl.doubtnut.com/l/_AXvcOac8AliI
https://dl.doubtnut.com/l/_oFbNbjQlAusf
https://dl.doubtnut.com/l/_HG7OyLEBdWC0


128. Give IUPAC name of the following compound :

Watch Video Solution

CH3 − CH
∣

OH

− CH2 − CH
∣

OH

− CH
∣

C2H5

− CH2CH3

129. Which metals are present in hydroleum alloy?

Watch Video Solution

130. Write IUPAC name of the following compound : 

Watch Video Solution

HO − CH2 − CH
∣

OH

− CH2 − OH

https://dl.doubtnut.com/l/_HG7OyLEBdWC0
https://dl.doubtnut.com/l/_MkJc6UUpsod2
https://dl.doubtnut.com/l/_qASc0S3jKvBH
https://dl.doubtnut.com/l/_WUf3goo0SkIV


131. Write IUPAC name of the following compound : 

Watch Video Solution

CH3 − O − CH2 − CH
∣

CH3

− CH3

132. Write IUPAC name of the following compound : 

Watch Video Solution

C6H5 − O − C2H5

133. Which metals are present in aluminium bronze alloy?

Watch Video Solution

134. Write IUPAC name of the following compound : 

W t h Vid S l ti

CH3 − CH2 − O − CH
∣

CH3

− CH2 − CH3

https://dl.doubtnut.com/l/_PyO8hQmu1Q16
https://dl.doubtnut.com/l/_2DEhRoipRsn6
https://dl.doubtnut.com/l/_NDJ7brDuQ3Yx
https://dl.doubtnut.com/l/_7CTEIM3GDGxs


Watch Video Solution

135. Write the structure of compounds whose IUPAC names are as follows

: 2-Methylbutan-2-ol.

Watch Video Solution

136. Which metals are present in nichrome alloy other than manganese

and iron?

Watch Video Solution

137. Write the structure of compounds whose IUPAC names are as follows

: 3, 5-Dimethylhexane-1, 3,5- triol.

Watch Video Solution

https://dl.doubtnut.com/l/_7CTEIM3GDGxs
https://dl.doubtnut.com/l/_vZfo3Sze5FIJ
https://dl.doubtnut.com/l/_WDmdnkCvp0Jt
https://dl.doubtnut.com/l/_Jxn629si1oL9


138. Write the structure of compounds whose IUPAC names are as follows

: 2,3- Diethylphenol .

Watch Video Solution

139. Write the structure of compounds whose IUPAC names are as follows

: 1-Ethoxypropane.

Watch Video Solution

140. Which metal is present in solder alloy other than lead?

Watch Video Solution

141. Which metals are present in Alanko alloy?

Watch Video Solution

https://dl.doubtnut.com/l/_St8fcvhiOgrk
https://dl.doubtnut.com/l/_rucf6qRash60
https://dl.doubtnut.com/l/_8Kdgr2rjEEqU
https://dl.doubtnut.com/l/_3eKvhs6KCGWK
https://dl.doubtnut.com/l/_wmGCFlMykh3y


142. Which metals are present in manganese steel alloy?

Watch Video Solution

143. Which metals are present in chromium steel alloy?

Watch Video Solution

144. Express 3056 in roman numbers.

Watch Video Solution

145. Express 3057 in roman numbers.

Watch Video Solution

146. Express 3058 in roman numbers.

https://dl.doubtnut.com/l/_wmGCFlMykh3y
https://dl.doubtnut.com/l/_KmbpZowUVzWb
https://dl.doubtnut.com/l/_w52iv6YOFqIC
https://dl.doubtnut.com/l/_FkJUZP9ZUyCU
https://dl.doubtnut.com/l/_ae3l3b8y0t9m


Watch Video Solution

147. Express 3060 in roman numbers.

Watch Video Solution

148. Express 3061 in roman numbers.

Watch Video Solution

149. Express 3062 in roman numbers.

Watch Video Solution

150. Express 3063 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ae3l3b8y0t9m
https://dl.doubtnut.com/l/_563YNgvUhdUW
https://dl.doubtnut.com/l/_YLyTEGYleYkg
https://dl.doubtnut.com/l/_v4Xntgtfwu8z
https://dl.doubtnut.com/l/_OuW42E6ixsq4
https://dl.doubtnut.com/l/_a2OcCYp8B01D


151. Express 3065 in roman numbers.

Watch Video Solution

152. Express 3066 in roman numbers.

Watch Video Solution

153. Express 3067 in roman numbers.

Watch Video Solution

154. Express 3068 in roman numbers.

Watch Video Solution

155. Express 3070 in roman numbers.

https://dl.doubtnut.com/l/_a2OcCYp8B01D
https://dl.doubtnut.com/l/_gvcNd8j6pGsX
https://dl.doubtnut.com/l/_FRZvFARQhWTN
https://dl.doubtnut.com/l/_EkgGhVeGlvbz
https://dl.doubtnut.com/l/_emwLSNTWaMB5


Watch Video Solution

156. Express 3071 in roman numbers.

Watch Video Solution

157. Express 3072 in roman numbers.

Watch Video Solution

158. Express 3073 in roman numbers.

Watch Video Solution

159. Give two reactions that show acidic nature of phenol Compare -

acidity of phenol with that of ethanol .

Watch Video Solution

https://dl.doubtnut.com/l/_emwLSNTWaMB5
https://dl.doubtnut.com/l/_o5t4eWQCltO9
https://dl.doubtnut.com/l/_SFLhqd1M1d0R
https://dl.doubtnut.com/l/_vo7GEp5mCSML
https://dl.doubtnut.com/l/_PJUD8OZ9FpCk


160. Explain why is ortho nitrophenol more acidic than ortho

methoxyphenol ?

Watch Video Solution

161. Explain how does the -OH group attached to a carbon of benzene ring

activate it towards electrophilic substitution ?

Watch Video Solution

162. Express 3077 in roman numbers.

Watch Video Solution

163. Give equations of the following reaction : Bromine in  with

phenol.

W h Vid S l i

CS2

https://dl.doubtnut.com/l/_PJUD8OZ9FpCk
https://dl.doubtnut.com/l/_AymBsseQxJcb
https://dl.doubtnut.com/l/_0t76vZnSRiuT
https://dl.doubtnut.com/l/_J3YgnYwZTNvC
https://dl.doubtnut.com/l/_50oIzq2t25av


Watch Video Solution

164. Give equations of the following reaction : Dilute  with phenol.

Watch Video Solution

HNO3

165. Give equations of the following reaction : Treating phenol with

chloroform in presence of aqueous NaOH.

Watch Video Solution

166. Express 3078 in roman numbers.

Watch Video Solution

167. Explain the following with an example : Reimer-Tiemann reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_50oIzq2t25av
https://dl.doubtnut.com/l/_snQKYjJY9YVq
https://dl.doubtnut.com/l/_IX61OkHVx5SQ
https://dl.doubtnut.com/l/_QU1q6oHr5U0T
https://dl.doubtnut.com/l/_Ng60xQHOTxxv


168. Express 3080 in roman numbers.

Watch Video Solution

169. Explain the following with an example : Unsymmetrical ether.

Watch Video Solution

170. Discuss the reaction and mechanism of acidic dehydration of ethyl

alcohol to prepare ethene.

Watch Video Solution

171. How are the following conversions carried out ? 

(i) Propene  Propan -2- ol

Watch Video Solution

→

https://dl.doubtnut.com/l/_gqapio68MvxK
https://dl.doubtnut.com/l/_Wc7yMcpmS45l
https://dl.doubtnut.com/l/_5dXVgYxOgIIb
https://dl.doubtnut.com/l/_vjhyRNmgky3o
https://dl.doubtnut.com/l/_acirlMaEDFon


172. How are the following conversion carried out ? Benzyl chloride 

benzyl alcohol.

Watch Video Solution

→

173. Express 3081 in roman numbers.

Watch Video Solution

174. Express 3082 in roman numbers.

Watch Video Solution

175. Express 3083 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_acirlMaEDFon
https://dl.doubtnut.com/l/_6x8hjZjDqOF3
https://dl.doubtnut.com/l/_nUlHwJ25KuGO
https://dl.doubtnut.com/l/_C588uJsWrJ5A


176. Express 3085 in roman numbers.

Watch Video Solution

177. Which oxidizer is present in ammonal?

Watch Video Solution

178. Name the reagents used in the following reaction: Benzyl alcohol to

benzoic acid.

Watch Video Solution

179. Name the reagents used in the following reaction: Dehydration of

propan-2-ol to propene.

Watch Video Solution

https://dl.doubtnut.com/l/_XEby30LIkWii
https://dl.doubtnut.com/l/_owtGU12qn0pT
https://dl.doubtnut.com/l/_k6At2RlcMxxL
https://dl.doubtnut.com/l/_txTzeolLAFDm
https://dl.doubtnut.com/l/_NS8TC73x0KyJ


180. Name the reagents used in the following reaction: Butan-2-one to

butan-2-ol.

Watch Video Solution

181. Which fuel is present in ammonal?

Watch Video Solution

182. Give IUPAC name of the following ether : 

Watch Video Solution

C2H5OCH2 − CH
∣

CH3

− CH3

183. Give IUPAC name of the following ether : 

Watch Video Solution

CH3OCH2CH2Cl

https://dl.doubtnut.com/l/_NS8TC73x0KyJ
https://dl.doubtnut.com/l/_zXfONdDMfHZ9
https://dl.doubtnut.com/l/_k7eP9Dn9JbEh
https://dl.doubtnut.com/l/_4DhQyRijvUPC


184. Give IUPAC name of the following ether : 

Watch Video Solution

O2N − C6H4 − OCH3(p)

185. What is the composition of Bordeaux mixture?

Watch Video Solution

186. Write the names of reagents and equations for the preparation of

the following ether by Williamson’s synthesis : 1-Propoxypropane.

Watch Video Solution

187. Write the names of reagents and equations for the preparation of

the following ether by Williamson’s synthesis : Ethoxybenzene.

Watch Video Solution

https://dl.doubtnut.com/l/_tzD1iNr7ljHe
https://dl.doubtnut.com/l/_NmuvoovyOoRL
https://dl.doubtnut.com/l/_kwWN0awUyTLK
https://dl.doubtnut.com/l/_nYgCGHahCP39
https://dl.doubtnut.com/l/_ZnEc7TjHXJXm


188. What is the composition of carbogen?

Watch Video Solution

189. Write the names of reagents and equations for the preparation of

the following ether by Williamson’s synthesis : 1-methoxyethane.

Watch Video Solution

190. Which gas is formed in biogas plant other than carbon monoxide

and hydrogen?

Watch Video Solution

191. How is 1-propoxypropane synthesized from propan-1-ol ? Write

mechanism of this reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_ZnEc7TjHXJXm
https://dl.doubtnut.com/l/_3dTSWtzykzzM
https://dl.doubtnut.com/l/_1atF7oONjERk
https://dl.doubtnut.com/l/_j1KXW3UOyyU1


192. Write the mechanism of the reaction of HI with methoxymethane .

Watch Video Solution

193. Write equations of the following reactions : 

Friedel-Crafts alkylation of anisole.

Watch Video Solution

194. Write equations of the following reaction : Nitration of anisole.

Watch Video Solution

195. Write equations of the following reactions : 

Bromination of anisole in ethanoic acid medium.

Watch Video Solution

https://dl.doubtnut.com/l/_j1KXW3UOyyU1
https://dl.doubtnut.com/l/_PaUPzZKruPw9
https://dl.doubtnut.com/l/_H1kTG8UEr8fO
https://dl.doubtnut.com/l/_d7s11Ba7H51f
https://dl.doubtnut.com/l/_eRXNYw4cfwGb


196. Name that oxidizer present in gun powder along with sulphur and

charcoal?

Watch Video Solution

197. When 3-methylbutan-2-ol is treated with HBr following reaction takes

place , 


 Give a

mechanism for this reaction.

Watch Video Solution

CH3 − CH
∣

CH3

− CH
∣

OH

− CH3

HBr
−−→ CH3 −

Br

∣

C
∣

CH3

− CH2 − CH3

198. What is the structure and IUPAC name of glycerol?

Watch Video Solution

https://dl.doubtnut.com/l/_9esGEGalJpse
https://dl.doubtnut.com/l/_nzsWXno6qz5G
https://dl.doubtnut.com/l/_jgCV1HHKIo06


199. Write the IUPAC name of the compound given below.

Watch Video Solution

CH3 − CH2 − C
∣

CH3

= C
∣

CH2OH

− OH

200. Name the factors responsible for the solubility of alcohols in water.

Watch Video Solution

201. What is denatured alcohol?

Watch Video Solution

202. Out of 2-chloroethanol and ethanol which is more acidic and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_GBPesSlPLZsI
https://dl.doubtnut.com/l/_GzZw3BS5XWdM
https://dl.doubtnut.com/l/_MajnkgTBN0oJ
https://dl.doubtnut.com/l/_0XD2uoho9GtH


203. Suggest a reagent for conversion of ethanol to ethanal.

Watch Video Solution

204. Suggest a reagent for conversion of ethanol to ethanoic acid.

Watch Video Solution

205. Out of o-nitrophenol and p-nitrophenol, Which is more volatile ?

Explain.

Watch Video Solution

206. Out of o-nitrophenol and o-cresol, which is more acidic ?

Watch Video Solution

https://dl.doubtnut.com/l/_EZnlTCZVVOed
https://dl.doubtnut.com/l/_nhbzbmUPHHRn
https://dl.doubtnut.com/l/_6SnmN95swThR
https://dl.doubtnut.com/l/_kKmdHHkqDj73


207. When phenol is treated with bromine water, white precipitate is

obtained. Give the structure and the name of the compound formed.

Watch Video Solution

208. Arrange the following compounds in increasing order of acidity and

give a suitable explanation.
Phenol, o-nitrophenol o-cresol.

Watch Video Solution

209. Alcohols react with active metals e.g. Na, K etc. to give corresponding

alkoxides. Write down the decreasing order of reactivity of sodium metal

towards primary, secondary and tertiary alcohols.

Watch Video Solution

https://dl.doubtnut.com/l/_YyYsJyNi4J8V
https://dl.doubtnut.com/l/_NEaSS101j9U2
https://dl.doubtnut.com/l/_FDh1AMu0z9rZ


210. What happens when benzene diazonium chloride is heated with

water ?

Watch Video Solution

211. Arrange the following compounds in decreasing order of acidity.

Watch Video Solution

H2O, ROH,HC ≡ CH

212. Which other component is present in lithopone other than barium

sulphate?

Watch Video Solution

213. Carbogen was invented by which scientist?

Watch Video Solution

https://dl.doubtnut.com/l/_rDJbgMkOWEyQ
https://dl.doubtnut.com/l/_Fn3rzatskZmQ
https://dl.doubtnut.com/l/_lzEDe9r5NAFm
https://dl.doubtnut.com/l/_iIwPKG3ESwQ4


214. Electroplating of _________ is done to protect costly wooden

furnitures.

Watch Video Solution

215. Explain why is OH group in phenols more strongly held as compared

to OH group in alcohols.

Watch Video Solution

216. Explain why nucleophilic substitution reactions are not very common

in phenols.

Watch Video Solution

https://dl.doubtnut.com/l/_iIwPKG3ESwQ4
https://dl.doubtnut.com/l/_tBv7MUMMFEaN
https://dl.doubtnut.com/l/_8FoL4oiYMdXn
https://dl.doubtnut.com/l/_CaMrSNWnJtWY


217. Preparation of alcohols from alkenes involves the electrophilic attack

on alkene carbon atom. Explain its mechanism.

Watch Video Solution

218. Explain why is O=C=O non-polar while R-O-R is polar.

Watch Video Solution

219. Why is the reactivity of all the three classes of alcohols with conc. HCl

and  (Lucas reagent) different?

Watch Video Solution

ZnCl2

220. Write steps to carry out the conversion of phenol to aspirin.

Watch Video Solution

https://dl.doubtnut.com/l/_HyiBcrmTAfIi
https://dl.doubtnut.com/l/_KbEcdk42oaWc
https://dl.doubtnut.com/l/_xVlRTnAxGyEK
https://dl.doubtnut.com/l/_JGEnYSRWfhir
https://dl.doubtnut.com/l/_3KhDztSYHmqY


221. Out of phenol and benzene which is more easily nitrated and why ?

Watch Video Solution

222. In Kolbe’s reaction, instead of phenol, phenoxide ion is treated with

carbon dioxide. Why ?

Watch Video Solution

223. __________ is a compound of zinc which is used in protecting wooden

furnitures from germs and insects, as disnifectant and in deodrant.

Watch Video Solution

224. Why di-tertiary butyl ether cannot be prepared byWilliamson’s

synthesis ?

Watch Video Solution

https://dl.doubtnut.com/l/_3KhDztSYHmqY
https://dl.doubtnut.com/l/_dbn7e9wMotPf
https://dl.doubtnut.com/l/_NQzqXcd6Samk
https://dl.doubtnut.com/l/_D02XO5BmvBW8


225. Why is the C-O-H bond angle in alcohols slightly less than the

tetrahedral angle whereas the C-O-C bond angle in ether is slightly

greater ?

Watch Video Solution

226. Explain why low molecular mass alcohols are soluble in water.

Watch Video Solution

227. Orthonitrophenol and paranitrophenol are more acidic than phenols.

Give reasons.

Watch Video Solution

228. Explain why alcohols and ethers of comparable molecular mass have

different boiling points?

https://dl.doubtnut.com/l/_D02XO5BmvBW8
https://dl.doubtnut.com/l/_UXhNhkrnf7to
https://dl.doubtnut.com/l/_tmqpI0S6yUzR
https://dl.doubtnut.com/l/_TmeKOJ1B9vOW
https://dl.doubtnut.com/l/_9TaKngoJxxou


Watch Video Solution

229. The carbon-oxygen bond in phenol is slightly stronger than that in

methanol. Why?

Watch Video Solution

230. Arrange water, ethanol and phenol in increasing order of acidity and

give reason for your answer.

Watch Video Solution

231. Acid-catalysed dehydration of tert-butanol is faster than that of n-

butanol. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_9TaKngoJxxou
https://dl.doubtnut.com/l/_CD8noJYX26yH
https://dl.doubtnut.com/l/_Yl9PR6pGlJ0a
https://dl.doubtnut.com/l/_IVZkXrJVvw9u


232. Hydration of 3-phenyl-1-butene with dil.  is not a satisfactory

method for preparing 3-phenyl-2-butanol because 2-phenyl-2-butanol is

obtained instead. Explain.

Watch Video Solution

H2SO4

233. Give the product and show the steps in (i) the hydration of

cyclobutylethene in dil.  (ii) dehydration of cyclobutylcarbinol.

Watch Video Solution

H2SO4

234. Show steps for the conversion of ethene to divinyl ether.

Watch Video Solution

235. Cyclobutyl bromide on treatment with magnesium in dry ether forms

an organometallic A. The organo-metallic reacts with ethanal to give an

https://dl.doubtnut.com/l/_BPySmed2gM2O
https://dl.doubtnut.com/l/_RyL5J0zaBmOQ
https://dl.doubtnut.com/l/_vHLgyQhhYV6X
https://dl.doubtnut.com/l/_CA6uWLnEu5r9


alcohol B after mild acidification. Prolonged treatment of alcohol B with

an equivalent amount of HBr gives 1-bromo-1-methyl cyclopentane(C).

With the structures of A, B and explain how C is obtained from B.

Watch Video Solution

236. Explain why dehydration of alcohols to form alkenes is always carried

out with conc.  and not with conc.HCl or  ?

Watch Video Solution

H2SO4 HNO3

237. Alcohols donot react with NaBr but when  is added they form

alkyl bromides. Explain.

Watch Video Solution

H2SO4

238. Cyclic  has five isomers. Write their structure and names.

Watch Video Solution

C4H7OH

https://dl.doubtnut.com/l/_CA6uWLnEu5r9
https://dl.doubtnut.com/l/_0glgvt3d0xwX
https://dl.doubtnut.com/l/_scAIhcINezgj
https://dl.doubtnut.com/l/_MWVY2AEDflbp


239. Neopentyl alcohol reacts with concentrated HBr to give 2-bromo-2-

methylbutane. Write the mechanism for the formation of this product .

Watch Video Solution

240. Express 3086 in roman numbers.

Watch Video Solution

241. Express 3087 in roman numbers.

Watch Video Solution

242. Write the intermidate steps of the following reaction :

Watch Video Solution

C6H5CH(OH)C = CH
H3O

+

−−−→ C6H5CH = CH − CHO

https://dl.doubtnut.com/l/_MWVY2AEDflbp
https://dl.doubtnut.com/l/_pjqFpUmOnOPv
https://dl.doubtnut.com/l/_7IbNhhf6CDRw
https://dl.doubtnut.com/l/_gYHl9kXRJKUH
https://dl.doubtnut.com/l/_OCXYg3SaQKXA


Exercise

243. What are the uses of zinc chloride?

Watch Video Solution

244. What are saprotrophs?

Watch Video Solution

1. Write the IUPAC name of the following compound :

Watch Video Solution

HO − CH2 − CH
∣

CH3

− CH2 − OH

https://dl.doubtnut.com/l/_OCXYg3SaQKXA
https://dl.doubtnut.com/l/_EbiRR6R7T0cM
https://dl.doubtnut.com/l/_y2KchPc68HF7
https://dl.doubtnut.com/l/_22JdDY0HnVnl


2. Write the IUPAC name of the following compound : 

Watch Video Solution

3. Write the IUPAC name of the following compound :

Watch Video Solution

CH3 − CH
∣

Cl

− C
∣

OH

= CH2

4. Give IUPAC name of the following compound :

Watch Video Solution

CH3 − CH
∣

OH

− CH2 − CH
∣

OH

− CH
∣

C2H5

− CH2CH3

https://dl.doubtnut.com/l/_cJdgRutVE0V7
https://dl.doubtnut.com/l/_wWDFMuX5LBZ1
https://dl.doubtnut.com/l/_qegI9x2TzmuU


5. Give the structural formulae and IUPAC names of the isomers with the

molecular formula . Arrange them in increasing order of their

boiling point.

Watch Video Solution

C3H8O

6. Which structural isomer of  cannot be dehydrogenated by

copper at 575K ?

Watch Video Solution

C4H10O

7. Arrange the following in order of increasing reactivity towards Lucas

reagent:
butan-1-ol, 2-methylpropan-2-ol, butan-2-ol.

Watch Video Solution

https://dl.doubtnut.com/l/_qegI9x2TzmuU
https://dl.doubtnut.com/l/_pvIyXl5F12eR
https://dl.doubtnut.com/l/_RnAnGO6deBIa
https://dl.doubtnut.com/l/_coORiXQ52MaT


8. What is the major product when butan-2-ol is heated with  at

443 K?

Watch Video Solution

H2SO4

9. What products are obtained when ethyl alcohol is treated with 

at (i) 443 K (ii) 413K at (iii) 383 K?

Watch Video Solution

H2SO4

10. What happens when tert. butyl alcohol is treated with reduced copper

at 573K ?

Watch Video Solution

11. Express 2736 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_pQAfp3OrtW9d
https://dl.doubtnut.com/l/_pKGtZUydiuGs
https://dl.doubtnut.com/l/_zPmsOS8DkXFj
https://dl.doubtnut.com/l/_oDLEkUCRfwQz


12. Express 2737 in roman numbers.

Watch Video Solution

13. Express 2738 in roman numbers.

Watch Video Solution

14. Express 2800 in roman numbers.

Watch Video Solution

15. Express 2801 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_oDLEkUCRfwQz
https://dl.doubtnut.com/l/_8IAqy6fEZfO9
https://dl.doubtnut.com/l/_Fd3uWZW9WbYM
https://dl.doubtnut.com/l/_g7WAAsi9tY45
https://dl.doubtnut.com/l/_gOrki5YVitHL


16. Express 2802 in roman numbers.

Watch Video Solution

17. Express 2803 in roman numbers.

Watch Video Solution

18. Express 2805 in roman numbers.

Watch Video Solution

19. Express 2806 in roman numbers.

Watch Video Solution

20. Express 2807 in roman numbers.

https://dl.doubtnut.com/l/_Wd8hn1kcJlBw
https://dl.doubtnut.com/l/_sLxCMkfItG7U
https://dl.doubtnut.com/l/_bILaBGNbkyrq
https://dl.doubtnut.com/l/_dxdhQIKEbted
https://dl.doubtnut.com/l/_Z4Kzl9vZOYrP


Watch Video Solution

21. Express 2808 in roman numbers.

Watch Video Solution

22. Express 2810 in roman numbers.

Watch Video Solution

23. Express 2811 in roman numbers.

Watch Video Solution

24. Which metal is present in artificial gold other than copper?

Watch Video Solution

https://dl.doubtnut.com/l/_Z4Kzl9vZOYrP
https://dl.doubtnut.com/l/_yKAWU5yqS5Jh
https://dl.doubtnut.com/l/_46L6ZxohnCBf
https://dl.doubtnut.com/l/_qkiZ4KntJqrH
https://dl.doubtnut.com/l/_JKj5G5oa4b5f
https://dl.doubtnut.com/l/_VfaX1cgVXgD8


25. Express 2812 in roman numbers.

Watch Video Solution

26. Express 2813 in roman numbers.

Watch Video Solution

27. Express 2815 in roman numbers.

Watch Video Solution

28. Express 2816 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_VfaX1cgVXgD8
https://dl.doubtnut.com/l/_WDDjW6erWGHC
https://dl.doubtnut.com/l/_ZM8oPyk7UI37
https://dl.doubtnut.com/l/_cM6A129237di


29. Alloys are mixture of metals, non-metals and elements. Which non-

metal is present in coin metal alloy?

Watch Video Solution

30. Write the IUPAC name of the following ether whose common name is

given : Isopropyl methyl ether.

Watch Video Solution

31. Write the IUPAC name of the following ether whose common name is

given : Phenetole .

Watch Video Solution

32. Write the IUPAC name of the following ether whose common name is

given : -chloro ethyl methyl ether.β

https://dl.doubtnut.com/l/_RXfuVJl32kG0
https://dl.doubtnut.com/l/_n9jXECuFEmb1
https://dl.doubtnut.com/l/_Jh5ht2eK2tzz
https://dl.doubtnut.com/l/_U0cgZd1DVeCZ


Watch Video Solution

33. Write the IUPAC name of the following ether whose common name is

given : Cyclohexyl n-propyl ether.

Watch Video Solution

34. Write the IUPAC name of the following : 

Watch Video Solution

CH3 − CH
∣

OC2H5

CH2CH3

35. Write the IUPAC name of the following : 

Watch Video Solution

CH3 − O − C(CH3)3

36. Express 3018 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_U0cgZd1DVeCZ
https://dl.doubtnut.com/l/_5QUBGFK7rpYo
https://dl.doubtnut.com/l/_D31VHhgnitgd
https://dl.doubtnut.com/l/_58u8txnooKkG
https://dl.doubtnut.com/l/_IESW8c9M33aE


37. Write the IUPAC name of the following : 

Watch Video Solution

(CH3)2CHOCH3

38. Express 3020 in roman numbers.

Watch Video Solution

39. Express 3021 in roman numbers.

Watch Video Solution

40. Write the structural formula of the following : Di-isopropyl ether.

Watch Video Solution

https://dl.doubtnut.com/l/_IESW8c9M33aE
https://dl.doubtnut.com/l/_lgddA1fnrAnG
https://dl.doubtnut.com/l/_iGVAEmVJjkL5
https://dl.doubtnut.com/l/_nL6LU9h5mYCR
https://dl.doubtnut.com/l/_vrfgmPLQcA08


41. Write the structural formula of the following : Divinyl ether .

Watch Video Solution

42. Write the structural formula of the following : Bis (2-methoxyethyl)

ether.

Watch Video Solution

43. Express 3022 in roman numbers.

Watch Video Solution

44. Express 3023 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_BjmG6zeza8oK
https://dl.doubtnut.com/l/_v0QYRxqoJu5A
https://dl.doubtnut.com/l/_JW9FlOwRr5WT
https://dl.doubtnut.com/l/_097wFkICFe93


45. Express 3025 in roman numbers.

Watch Video Solution

46. Express 3036 in roman numbers.

Watch Video Solution

47. Which three metals present in gun metal alloy?

Watch Video Solution

48. Which metals are present in bell metal alloy?

Watch Video Solution

https://dl.doubtnut.com/l/_bqjoZrlfPY1N
https://dl.doubtnut.com/l/_QV93Pgf6dQIJ
https://dl.doubtnut.com/l/_0sSbpc159WF3
https://dl.doubtnut.com/l/_Tgm2vBicyH7E


49. Name the major product in the following reaction :

Watch Video Solution

C2H5OH + CH2N2

HBF4

−−→

50. Name the major product in the following reaction :

Watch Video Solution

(CH3)3CBr + C2H5ONa →

51. Which metals are present in Constantin alloy?

Watch Video Solution

52. True or False : Ethers are more polar than isomeric alcohols.

Watch Video Solution

https://dl.doubtnut.com/l/_sIPB95LKj0nX
https://dl.doubtnut.com/l/_U3DQuIjKc7Bb
https://dl.doubtnut.com/l/_X119S7GTC67l
https://dl.doubtnut.com/l/_KXF5CBhlxjxp
https://dl.doubtnut.com/l/_tEdVf5XrZPCi


53. The Boiling Point of ethers are lower than isomeric alcohols why ?

Watch Video Solution

54. Bond angle in dimethyl ether is more than water.

Watch Video Solution

55. Sodium ethoxide can be prepared by the reaction of ethanol with

aqueous sodium hydroxide.

Watch Video Solution

56. tert -butyl alcohol is more soluble in water than n- butyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_tEdVf5XrZPCi
https://dl.doubtnut.com/l/_Z15Px7cIzer7
https://dl.doubtnut.com/l/_URBfEIvLfOze
https://dl.doubtnut.com/l/_gxyUPqEWYptz


57. True or False : m-methoxyphenol is a weaker acid than phenol.

Watch Video Solution

58. 2,4 dinitrophenol is less acidic than phenol.

Watch Video Solution

59. Draw the trans isomer of the following compound : 

Watch Video Solution

[Pt(NH3)2Cl2]

60. Alcohol are stronger acids than water.

Watch Video Solution

https://dl.doubtnut.com/l/_gMpDlEVxlX3Z
https://dl.doubtnut.com/l/_dMTpEOSjf6vj
https://dl.doubtnut.com/l/_cvjhI0H9R13Y
https://dl.doubtnut.com/l/_KfGs6ix3nG9C


61. True or False : Primary alcohols undergo dehydration more easily than

secondary and tertiary alcohols.

Watch Video Solution

62. Phenols turn blue litmus red

Watch Video Solution

63. Draw the trans isomer of the following compound :

Watch Video Solution

[Pt(C5H5N)2Cl(NH3)]

64. Draw the cis isomer of the following compound :

Watch Video Solution

[Pt(C5H5N)2Cl(NH3)]

https://dl.doubtnut.com/l/_zK2Jlycp8ek6
https://dl.doubtnut.com/l/_rnnhcIIJXvVp
https://dl.doubtnut.com/l/_LOdfmlKEubj3
https://dl.doubtnut.com/l/_VtCGqHiglfQ4


65. Acetone reacts with methyl magnesium bromide followed by

hydrolysis to give secondary alcohols.

Watch Video Solution

66. True or False : Reactivity of halogen acids towards ethers follows the

sequence :
HI > HBr > HCl.

Watch Video Solution

67. Dehydration of ethanol with conc.  at 413 K gives ethane

Watch Video Solution

H2SO4

68. Draw the fac isomer of the following compound :

W h Vid S l i

[Co(NO2)3(NH3)3]

https://dl.doubtnut.com/l/_VtCGqHiglfQ4
https://dl.doubtnut.com/l/_rtDNvRrnAZMJ
https://dl.doubtnut.com/l/_719Pzrui7jyZ
https://dl.doubtnut.com/l/_hkqKfG27ky0a
https://dl.doubtnut.com/l/_DOfrPARHfHCq


Watch Video Solution

69. 100% pure ethanol is called .............. .

Watch Video Solution

70. Tertiary alcohol when passed over heated copper at 573K gives

.................. .

Watch Video Solution

71. Amongst the three isomers of nitrophenol, the one that is least

soluble in water is ............. .

Watch Video Solution

72. In the formation of salicylic acid by Reimer Tiemann reaction, phenol is

heated with ............. in the presence of NaOH.

https://dl.doubtnut.com/l/_DOfrPARHfHCq
https://dl.doubtnut.com/l/_zLFIgGlcjVWl
https://dl.doubtnut.com/l/_1eb04epzABos
https://dl.doubtnut.com/l/_sqSluLQgA1z6
https://dl.doubtnut.com/l/_6jMuTrDDibUA


Watch Video Solution

73. An enzyme which can convert glucose into ethanol is .............. .

Watch Video Solution

74. Reaction of phenol with ............. in the presence of aqueous NaOH is

called Schotten Baumann reaction.

Watch Video Solution

75. Ortho and para nitrophenols can be separated by ............. distillation.

Watch Video Solution

76. Draw the mer isomer of the following compound :

[Co(NO2)3(NH3)3]

https://dl.doubtnut.com/l/_6jMuTrDDibUA
https://dl.doubtnut.com/l/_OVZnLRD0PLV0
https://dl.doubtnut.com/l/_as2jMZnqouvz
https://dl.doubtnut.com/l/_PSzsarT8IOSR
https://dl.doubtnut.com/l/_ayrNkfnZiHNp


Watch Video Solution

77. Absolute alcohol can be prepared from rectified spirit by ..........

distillation.

Watch Video Solution

78. Draw the mer isomer of the following compound : 

Watch Video Solution

[Rh(py)3Cl3]

79. With the help of valance bond theory explain the hydridisation of

Watch Video Solution

[Co(NH3)6]
+3

80. Draw the fac isomer of the following compound : [Rh(py)3Cl3]

https://dl.doubtnut.com/l/_ayrNkfnZiHNp
https://dl.doubtnut.com/l/_F4bAdwSQf05u
https://dl.doubtnut.com/l/_a6ErmGsi4n9W
https://dl.doubtnut.com/l/_s81wcgISNEBW
https://dl.doubtnut.com/l/_qOL2vxlbj5y9


Watch Video Solution

81. With the help of valance bond theory explain the hydridisation of

Watch Video Solution

[Fe(H2O)6]
+3

82. 

Watch Video Solution

C6H5OH + CHCl3
( i )NaOH , 340K , Δ
−−−−−−−−−−−−→

( ii ) dilHCl
............. .

83. 

Watch Video Solution

(CH3)2CHOH
Cu , 573K
−−−−−→ ............. . + .......... . .

https://dl.doubtnut.com/l/_qOL2vxlbj5y9
https://dl.doubtnut.com/l/_bcjDU6oEJyHG
https://dl.doubtnut.com/l/_1TriXiUc5WI4
https://dl.doubtnut.com/l/_eF8BuTrYILKw


84. 

Watch Video Solution

85. Choose the correct alternative: o-Nitrophenol has lower/higher 

value than m-nitrophenol.

Watch Video Solution

pKb

86.  is weaker/stronger acid than .

Watch Video Solution

C6H5OH C6H11OH

87. Water is weaker/stronger acid than ethanol.

https://dl.doubtnut.com/l/_hCCTzzJLGqQn
https://dl.doubtnut.com/l/_59EDDP6DYBUc
https://dl.doubtnut.com/l/_Pw94Jik1gMdK
https://dl.doubtnut.com/l/_zCyeHXcJm2mv


Watch Video Solution

88. Ketones are reduced to /  alcohols.

Watch Video Solution

1∘ 2∘

89. Phenol has smaller/larger dipole moment than Methanol.

Watch Video Solution

90. Benzene-1, 2, 3-triol is called hydroquinol/pyrogallol.

Watch Video Solution

91. Oxirane reacts with Grignard reagent to form Primary/ secondary

alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_zCyeHXcJm2mv
https://dl.doubtnut.com/l/_0Q4ZGQ2H7ZAZ
https://dl.doubtnut.com/l/_m5KaThI3Vzk4
https://dl.doubtnut.com/l/_TwhARsma53Gn
https://dl.doubtnut.com/l/_wtRGdo5c6iMd


92. Cumene on aerial oxidation and on subsequent hydrolysis gives

phenol/phenetole.

Watch Video Solution

93. Butan-2-ol has higher/lower boiling point than butan 1-ol.

Watch Video Solution

94. Ethanol on treatment with conc.  at 443 K gives ethene

/ethoxyethane.

Watch Video Solution

H2SO4

95. Picric acid is obtained by heating phenol in the Presence
 of conc.

 with conc. /conc. .H2SO4 HNO3 HNO2

https://dl.doubtnut.com/l/_wtRGdo5c6iMd
https://dl.doubtnut.com/l/_XlbMAUb06fSm
https://dl.doubtnut.com/l/_geHfRrukEuyk
https://dl.doubtnut.com/l/_fmVIvD9B4cCg
https://dl.doubtnut.com/l/_2tttL1nZIilO


Watch Video Solution

96. Treatment of sodium phenoxide with  at 400 K under a pressure

of 4-7 atm followed by acidification gives salicylic acid /salicyaldehyde.

Watch Video Solution

CO2

97. What is the major product formed when 2-butanol is treated with

conc.  443 K?

Watch Video Solution

H2SO4

98. What is the order of reactivity of  and  alcohols with sodium

metal ?

Watch Video Solution

1∘ , 2∘ 3∘

https://dl.doubtnut.com/l/_2tttL1nZIilO
https://dl.doubtnut.com/l/_TKMtbvt8NFG8
https://dl.doubtnut.com/l/_gkQqN8G5EZ2x
https://dl.doubtnut.com/l/_nevCFFciVd4T


99. Name the main product obtained when vapour of tert-butyl alcohol

are passed over heated copper at 573 K.

Watch Video Solution

100. How will you convert phenol to acetophenone ?

Watch Video Solution

101. Which of the two, phenol or o-nitrophenol more acidic and why?

Watch Video Solution

102. When phenol is treated with  and NaOH, the product formed

is

Watch Video Solution

CHCl3

https://dl.doubtnut.com/l/_UnUjRsv3uAA4
https://dl.doubtnut.com/l/_N2qxOQSWf8ra
https://dl.doubtnut.com/l/_lWMX1ToOT5w5
https://dl.doubtnut.com/l/_hQO1poDY9zDS
https://dl.doubtnut.com/l/_mEiL4ElEJYgO


103. What happens when phenol is warmed with  in the Presence of

aqueous NaOH?

Watch Video Solution

CO2

104. What happens when phenol is oxidised?

Watch Video Solution

105. Write the structural formula of propane -1, 2, 3- triol.

Watch Video Solution

106. Name the products obtained when anisole is treated with HI.

Watch Video Solution

https://dl.doubtnut.com/l/_mEiL4ElEJYgO
https://dl.doubtnut.com/l/_BF5on9JAXuzl
https://dl.doubtnut.com/l/_dBZO8D7qxKGf
https://dl.doubtnut.com/l/_ryB7rdtIviUC


107. Write the functional isomer of dimethyl ether.

Watch Video Solution

108. Why is special care taken to distil old samples of ether ?

Watch Video Solution

109. Name the products obtained when anisole is treated with a mixture

of conc.  and conc. .

Watch Video Solution

HNO3 H2SO4

110. Give the IUPAC name of the following compound :

Watch Video Solution

CH3 − C
∣

CH3

= C
∣

Br

− CH2OH

https://dl.doubtnut.com/l/_2OC3zG4UlyN5
https://dl.doubtnut.com/l/_seQpErAJ1luC
https://dl.doubtnut.com/l/_79Gtf1YoenMP
https://dl.doubtnut.com/l/_xeyUoOXIHlMH


111. How will you convert benzene to phenol ?

Watch Video Solution

112. Write the structural formulae for : 2-methylpropan-2-ol

Watch Video Solution

113. Draw the structure of hex-1-en-3-ol compound.

Watch Video Solution

https://dl.doubtnut.com/l/_ZCM8VBbg1R5B
https://dl.doubtnut.com/l/_Qjlw4dpUwVG9
https://dl.doubtnut.com/l/_daV2LS0dFqML


114. Name the compound according to IUPAC rule : 

Watch Video Solution

115. Draw the structure of isobutyl alcohol and give its IUPAC name.

Watch Video Solution

https://dl.doubtnut.com/l/_0P0WoCVzvonn
https://dl.doubtnut.com/l/_Ze5f0B1e0t9y


116. Which of the following isomers is more volatile : o-nitrophenol or p-

nitrophenol ?

Watch Video Solution

117. Give the IUPAC name of the following compound : 

Watch Video Solution

H2C = CH − CH
∣

OH

− CH2 − CH2 − CH3

118. Write the structure of the molecule of a compound whose IUPAC

name is 1-Phenylpropan-2-ol.

Watch Video Solution

119. Draw the structure of 2, 6-dimethylphenol.

https://dl.doubtnut.com/l/_Ze5f0B1e0t9y
https://dl.doubtnut.com/l/_C3yfcF2JKpTZ
https://dl.doubtnut.com/l/_0RBhUqXVdsim
https://dl.doubtnut.com/l/_cz5bU4mfHbMC
https://dl.doubtnut.com/l/_KSlaqPr6TmeO


Watch Video Solution

120. How would you convert ethanol to ethene ?

Watch Video Solution

121. Explain the formation of artificial gold?

Watch Video Solution

122. Write the IUPAC name of the following compound :

Watch Video Solution

HO − CH2 − CH
∣

CH3

− CH2 − OH

123. Dehydration of tertiary alcohols with Cu at 573 K gives:

https://dl.doubtnut.com/l/_KSlaqPr6TmeO
https://dl.doubtnut.com/l/_FAa6Gl4s2YMn
https://dl.doubtnut.com/l/_3g4tmbzIeAPG
https://dl.doubtnut.com/l/_HpnzduIemMJY
https://dl.doubtnut.com/l/_YXA4smhMBOFl


A. Aldehydes

B. Ketones

C. Alkenes

D. None of these

Answer:

Watch Video Solution

124. Molecular formula of Ethers is :

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

CnH2n+2OH

CnH2nO

CnH2n+1O

https://dl.doubtnut.com/l/_YXA4smhMBOFl
https://dl.doubtnut.com/l/_TrbZmreE0xqI


125. Williamsons synthesis is an example of :

A. Nucleophilic substitution reaction

B. Nucleophilic addition

C. Electrophilic substitution

D. None of the above

Answer:

Watch Video Solution

126. Commercial alcohol is made unfit for drinking by adding

A. Methyl alcohol

B. Antimony oxide and acetic acid

C. Morphine and adipic acid

https://dl.doubtnut.com/l/_TrbZmreE0xqI
https://dl.doubtnut.com/l/_wNqSFd8RBr1v
https://dl.doubtnut.com/l/_A5O1dUxPxCaj


D. Snake poison and malonic acid

Answer:

Watch Video Solution

127. Reaction used for the preparation of ethers is

A. Reimer-Tiemann reaction

B. Williamson’s synthesis

C. Wurtz reaction

D. Cannizzaro reaction

Answer:

Watch Video Solution

128. The test used to distinguish alcohols from one another is known as

https://dl.doubtnut.com/l/_A5O1dUxPxCaj
https://dl.doubtnut.com/l/_OYW31GG2DnqD
https://dl.doubtnut.com/l/_FvdwvdzkSPvY


A. Hinsberg's test

B. 2,4-DNP test

C. Iodoform test

D. Lucas test

Answer:

Watch Video Solution

129. The IUPAC name of  is

A. Propane -1, 3-diol

B. Propane -1, 2-diol

C. Propane -1, 2, 3-triol

D. Glycerol

Answer:

CH2OH
∣

CHOH
∣

CH2OH

https://dl.doubtnut.com/l/_FvdwvdzkSPvY
https://dl.doubtnut.com/l/_uA8t8HyxYaJv


Watch Video Solution

130. Ethers on hydrolysis give

A. carboxylic acid

B. alcohol

C. ester

D. ketone

Answer:

Watch Video Solution

131. Which of the following has highest boiling point?

A. Methanol

B. Ethanol

C. Propan-1-ol

https://dl.doubtnut.com/l/_uA8t8HyxYaJv
https://dl.doubtnut.com/l/_KFslRbUvmKoz
https://dl.doubtnut.com/l/_BFMOWu9dcbOu


D. Butan-1-ol

Answer:

Watch Video Solution

132. Which has highest  value?

A. Phenol

B. Ethanol

C. o-Nitrophenol

D. o-Cresol

Answer:

Watch Video Solution

pka

https://dl.doubtnut.com/l/_BFMOWu9dcbOu
https://dl.doubtnut.com/l/_8o8d1KFWtGiQ


133. With the help of valance bond theory explain the hydridisation of

Watch Video Solution

[CoF6]
−3

134. How is anisole prepared ? How does it react with  in  ?

Watch Video Solution

Br2 CS2

135. How is anisole prepared ? How does it react with  in the

presence of  ?

Watch Video Solution

HNO3

H2SO4

136. How is anisole prepared ? How does it react with HI at 393-403 K?

Watch Video Solution

https://dl.doubtnut.com/l/_r2txoQMpV7OI
https://dl.doubtnut.com/l/_FtVa6APIma7j
https://dl.doubtnut.com/l/_FcQjA0Bcnocn
https://dl.doubtnut.com/l/_vIp6yPB6uPGT
https://dl.doubtnut.com/l/_jkF2Mx5TTA59


137. Phenyl methyl ether reacts with HI to give phenol and methyl iodide

and not iodobenzene and methyl alcohol. Explain,

Watch Video Solution

138. Dimethyl ether is completely soluble in water but diethyl ether is

soluble in water to a small extent. Explain.

Watch Video Solution

139. C-O-C bond angle in ethers is higher than H-O-H bond angle in water

through O is  -hybridisedin both the cases.

Watch Video Solution

sp3

140. Explain the fact that in aryl ethers (i) the alkoxy group activates the

benzene ring towards electrophilic substitution and (ii) it directs the

https://dl.doubtnut.com/l/_jkF2Mx5TTA59
https://dl.doubtnut.com/l/_xOcPnN2zclnl
https://dl.doubtnut.com/l/_lD3odZf7II30
https://dl.doubtnut.com/l/_T50TPy5SOUUo


incoming substituents to ortho -and para -positions in benzene ring .

Watch Video Solution

141. Explain the fact that in aryl ethers (i) the alkoxy group activates the

benzene ring towards electrophilic substitution and (ii) it directs the

incoming substituents to ortho -and para -positions in benzene ring .

Watch Video Solution

142. Why is phenol acidic than ethanol? .

Watch Video Solution

143. How would you account for the following : The boiling points of

ethers are much lower than those of the alcohols of comparable molar

masses.

Watch Video Solution

https://dl.doubtnut.com/l/_T50TPy5SOUUo
https://dl.doubtnut.com/l/_NDd3kmAYFEMj
https://dl.doubtnut.com/l/_0ItNQyIiXju1
https://dl.doubtnut.com/l/_P7tRqhKxPB6B


144. Name the reagent used in the following reaction : oxidation of

primary alcohol to an aldehyde.

Watch Video Solution

145. Name the reagents used in the following reaction: Butan-2-one to

butan-2-ol.

Watch Video Solution

146. How will you convert : Phenol to 2, 4, 6-tribromophenol ?

Watch Video Solution

https://dl.doubtnut.com/l/_P7tRqhKxPB6B
https://dl.doubtnut.com/l/_ofHXsenvFOVq
https://dl.doubtnut.com/l/_qeJ8b9T7tnkJ
https://dl.doubtnut.com/l/_Rg4SM3duo5ox


147. Complete the following reaction equation: 

Watch Video Solution

148. Explain the mechanism of the following reaction : Acid catalysed

dehydration of an alcohol forming an alkene .

Watch Video Solution

149. Illustrate the following reaction giving a chemical equation : Kolbe's

reachon.

Watch Video Solution

https://dl.doubtnut.com/l/_EC3g7L4cNJbR
https://dl.doubtnut.com/l/_fkbmhYbz5YxY
https://dl.doubtnut.com/l/_HJ5V8xcF8hEZ


150. Illustrate the following reaction giving a chemical equation :

Williamson's synthesis.

Watch Video Solution

151. How can you distinguish primary, secondary and teriary alcohols by

Lucas Test?

Watch Video Solution

152. Explain the formation of coin metal?

Watch Video Solution

153. Explain how does the -OH group attached to a carbon of benzene

ring activate it towards electrophilic substitution ?

Watch Video Solution

https://dl.doubtnut.com/l/_16NKU1nOdehv
https://dl.doubtnut.com/l/_NsDeZESy3oUg
https://dl.doubtnut.com/l/_7FUmi2eL1t7t
https://dl.doubtnut.com/l/_J2emoDxg2dgt


154. Which is steam volatile : ortho or para-nitrophenol .

Watch Video Solution

155. How will you convert : Phenol to 2, 4, 6-tribromophenol ?

Watch Video Solution

156. How will you obtain :2-Methyl propene from 2-methyl propanol.

Watch Video Solution

157. Why are alcohols comparatively more soluble in water than the

corresponding hydrocarbons ?

Watch Video Solution

https://dl.doubtnut.com/l/_J2emoDxg2dgt
https://dl.doubtnut.com/l/_3sYTtA4g2bwV
https://dl.doubtnut.com/l/_lNjKzrI1I7tb
https://dl.doubtnut.com/l/_afEtEkG2PxoR
https://dl.doubtnut.com/l/_ppWDc2flT5cn
https://dl.doubtnut.com/l/_bVfALNI7CDag


158. Explain the formation of gun metal alloy?

Watch Video Solution

159. With the help of valance bond theory explain the magnetic nature of

Watch Video Solution

[Co(NH3)6]
+3

160. Draw the structure and name the product formed if the following

alcohols are oxidised. Assume that an excess of oxidising agent is used :

2-Methyl-1-propanol .

Watch Video Solution

161. Name the reagents and give the equation for the preparation of 2-

methyl-2-methoxypropane  by

Williamson's method.

[CH3 − C(OCH3)(CH3)CH3]

https://dl.doubtnut.com/l/_bVfALNI7CDag
https://dl.doubtnut.com/l/_7bHodVwrHAMb
https://dl.doubtnut.com/l/_wFUiTPEKwLHh
https://dl.doubtnut.com/l/_mNDa3ewFzIEL


Watch Video Solution

162. Explain why 4-nitrophenol is more acidic than 4- methoxyphenol .

Watch Video Solution

163. What happens when butene is treated with HCl?

Watch Video Solution

164. Explain the formation of bell metal?

Watch Video Solution

165. With the help of valance bond theory explain the magnetic nature of

Watch Video Solution

[CoF6]
−3

https://dl.doubtnut.com/l/_mNDa3ewFzIEL
https://dl.doubtnut.com/l/_HmDZ9QAb1kJX
https://dl.doubtnut.com/l/_Q6NCgkgbyd7z
https://dl.doubtnut.com/l/_sROQdAzlrlLO
https://dl.doubtnut.com/l/_p4155kYfBXFd


166. Explain the formation of constantin?

Watch Video Solution

167. Explain the formation of monel metal?

Watch Video Solution

168. With the help of valance bond theory explain the hybridisation and

magnetic nature of 

Watch Video Solution

[Fe(CN)6]
−4

169. Explain the formation of German silver?

Watch Video Solution

https://dl.doubtnut.com/l/_p4155kYfBXFd
https://dl.doubtnut.com/l/_Ox1x33mlTBC4
https://dl.doubtnut.com/l/_PUyTtlYPM4dF
https://dl.doubtnut.com/l/_bWLGvuT37Gwm
https://dl.doubtnut.com/l/_h3OBm96VJ6ZG
https://dl.doubtnut.com/l/_vtYA1QQJ0q04


170. With the help of valance bond theory explain the magnetic nature of

Watch Video Solution

[NiCl4]
−2

171. Explain the formation of Dutch metal?

Watch Video Solution

172. Explain the formation of magnelium?

Watch Video Solution

173. How will you convert butene to butan-2-ol ?

Watch Video Solution

https://dl.doubtnut.com/l/_vtYA1QQJ0q04
https://dl.doubtnut.com/l/_s7TmN3KnBJHe
https://dl.doubtnut.com/l/_xiDegvarThqo
https://dl.doubtnut.com/l/_k9w6vlWILvkt


174. Choose the correct option-
Which is the edible part of paddy crop?

A. Seeds

B. Leaves

C. Stem

D. Roots

Answer:

Watch Video Solution

175. What will happen when bromoethane react with NaI in presence of

acetone ?

Watch Video Solution

176. Choose the correct option-
Which is the edible part of wheat crop?

https://dl.doubtnut.com/l/_MaK3O9J6WQba
https://dl.doubtnut.com/l/_ZXTDoGbGDPG4
https://dl.doubtnut.com/l/_mWcFOwGuwpYK


A. Stem

B. Root

C. Leaves

D. Seeds

Answer:

Watch Video Solution

177. With the help of valance bond theory explain the hybridisation and

geometry of 

Watch Video Solution

[NiCl4]
−2

178. Express 3088 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_mWcFOwGuwpYK
https://dl.doubtnut.com/l/_UuR8u7IpCVkA
https://dl.doubtnut.com/l/_qp4fWADGMNDV
https://dl.doubtnut.com/l/_ZZC7haKJ351Y


179. Complete the following reaction : 

Watch Video Solution

C6H5OCH3

HI
−−→ ?

180. Write a chemical test to distinguish between phenol and benzoic

acid.

Watch Video Solution

181. How will you convert Phenol to Benzoic acid ?

Watch Video Solution

182. How will you convert sodium phenoxide to salicylic acid ?

Watch Video Solution

183. Why alcohols are weaker acids than water ?

https://dl.doubtnut.com/l/_ZZC7haKJ351Y
https://dl.doubtnut.com/l/_NC6AbgQjlhLN
https://dl.doubtnut.com/l/_2i17Jr2qGiDp
https://dl.doubtnut.com/l/_SjCoe9kiUDUa
https://dl.doubtnut.com/l/_MBCqlUsvFBvh


Watch Video Solution

184. Compare and explain the acidic nature of phenols .

Watch Video Solution

185. Express 3100 in roman numbers.

Watch Video Solution

186. Write short notes on Kolbe’s reaction ?

Watch Video Solution

187. p-Nitrophenol is more acidic than phenol. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_MBCqlUsvFBvh
https://dl.doubtnut.com/l/_OFUyBRldmobq
https://dl.doubtnut.com/l/_QmdJlUT5AsGM
https://dl.doubtnut.com/l/_XTKl4LW7AxsG
https://dl.doubtnut.com/l/_GwcuJ52OtcOf
https://dl.doubtnut.com/l/_izIFxAmtq5FN


188. Write the chemical reactions of dehydration of alcohols at the

temperature of 383 K, 413 K and 443 K in the presence of  .

Watch Video Solution

H2SO4

189. Write the mechanism of the following reaction :

Watch Video Solution

CH3CH2OH
HBr
−−→ CH3CH2Br + H2O

190. Write the equations involved in the following reaction : Reimer

Tiemann reaction.

Watch Video Solution

191. Express 1012 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_izIFxAmtq5FN
https://dl.doubtnut.com/l/_ZxvKcWmcU8Kf
https://dl.doubtnut.com/l/_TbBBfLFUugmD
https://dl.doubtnut.com/l/_Uww40CYCBBG0


192. Express 3102 in roman numbers.

Watch Video Solution

193. Write the structural formulae of all the possible ethers having the

molecular formula  and give their IUPAC names.

Watch Video Solution

C4H10O

194. How would you account for the following : The boiling points of

ethers are much lower than those of the alcohols of comparable molar

masses.

Watch Video Solution

195. What are primary, secondary and tertiary alcohols? What happens

when primary, secondary and tertiary alcohols are oxidized using acidified

https://dl.doubtnut.com/l/_Uww40CYCBBG0
https://dl.doubtnut.com/l/_T8NGYvzkokcF
https://dl.doubtnut.com/l/_h1SpX0JL2aj1
https://dl.doubtnut.com/l/_jgZ89NPepZhn
https://dl.doubtnut.com/l/_y7cLEZGSQFuc


 ?

Watch Video Solution

KMnO4

196. Explain why is ortho nitrophenol more acidic than ortho

methoxyphenol ?

Watch Video Solution

197. Express 3103 in roman numbers.

Watch Video Solution

198. Express 3105 in roman numbers.

Watch Video Solution

199. How will you prepare phenol from chlorobenzene ? Write equation.

https://dl.doubtnut.com/l/_y7cLEZGSQFuc
https://dl.doubtnut.com/l/_6Vow5ul43aRm
https://dl.doubtnut.com/l/_wZN9X7PTHkVJ
https://dl.doubtnut.com/l/_gT7vzunFwkLA
https://dl.doubtnut.com/l/_u1uXB4GVzIdK


Watch Video Solution

200. Express 3106 in roman numbers.

Watch Video Solution

201. Express 3107 in roman numbers.

Watch Video Solution

202. Explain that the relative ease of dehydration of alcohols is
tertiary >

secondary > Primary.

Watch Video Solution

203. Why Phenols are more acidic than Alcohol ?

Watch Video Solution

https://dl.doubtnut.com/l/_u1uXB4GVzIdK
https://dl.doubtnut.com/l/_9rksrYYWx9ol
https://dl.doubtnut.com/l/_Z8hYyvVfhEzS
https://dl.doubtnut.com/l/_IGzL5Tvnh9Di
https://dl.doubtnut.com/l/_E615PYPu1LwE


204. Discuss the dehydrogenation of primary, secondary and tertiary

alcohols.

Watch Video Solution

205. Write the reaction of primary , secondary and tertiary alcohols when

passed through copper tube at 573 K .

Watch Video Solution

206. Give reason for the higher boiling point of propan-1-ol than butane.

Watch Video Solution

207. Accomplish the following conversions. 

Benzyl chloride to 2-phenylethanamine .

https://dl.doubtnut.com/l/_E615PYPu1LwE
https://dl.doubtnut.com/l/_xMSjH3GKCV6T
https://dl.doubtnut.com/l/_3voUoO8wZegt
https://dl.doubtnut.com/l/_pq9mTux9MBFT
https://dl.doubtnut.com/l/_aD2LCJuXG1CS


Watch Video Solution

208. How will you convert ethanol to ethanoic acid ?

Watch Video Solution

209. Why has phenol, higher boiling point than toluene ?

Watch Video Solution

210. Alcohols are soluble in water while alkyl halides arenot, although

both are polar compounds. Explain.

Watch Video Solution

211. How do you convert the following : Phenol to anisole.

Watch Video Solution

https://dl.doubtnut.com/l/_aD2LCJuXG1CS
https://dl.doubtnut.com/l/_puKNhQYXyiz2
https://dl.doubtnut.com/l/_3l1X0DLryIze
https://dl.doubtnut.com/l/_DjvDNXppYqIO
https://dl.doubtnut.com/l/_Wb6PmDHmWDjZ


212. How will you convert : Propan-2-ol to 2-methylpropan-2-ol?

Watch Video Solution

213. Express 3108 in roman numbers.

Watch Video Solution

214. Express 3110 in roman numbers.

Watch Video Solution

215. Write the equation involved in the acetylation of salicylic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_Wb6PmDHmWDjZ
https://dl.doubtnut.com/l/_BoAmTriCyqlJ
https://dl.doubtnut.com/l/_kUCLeevfiUkk
https://dl.doubtnut.com/l/_yYCCRQYhjQPX
https://dl.doubtnut.com/l/_yJQTGxOAIb2Y


216. With the help of valance bond theory explain the hybridisation and

geometry of 

Watch Video Solution

[Ni(CO)4]

217. 
Give structures of A and B products.

Watch Video Solution

CH3OC2H5 + HI
excess
−−−→ A + B

218. With the help of valance bond theory explain the magnetic nature of

Watch Video Solution

[Ni(CO)4]

219. How would you convert the following: Phenol to benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_sN1iDPx9ScRL
https://dl.doubtnut.com/l/_BLMucOcWp8Lj
https://dl.doubtnut.com/l/_tty1lFvXqBPY
https://dl.doubtnut.com/l/_hSuQzu9YipHR
https://dl.doubtnut.com/l/_ApXBkACgsEjE


220. How would you convert the following: Phenol to benzoquinone.

Watch Video Solution

221. How would you convert the following: butene to butan-1-ol .

Watch Video Solution

222. How will you distinguish between benzyl alcohol and phenol?

Watch Video Solution

223. How do you account for the miscibility of ethoxy ethane with water.

Watch Video Solution

224. Among HI and HBr, which is a better reagent for cleavage of ether?

https://dl.doubtnut.com/l/_ApXBkACgsEjE
https://dl.doubtnut.com/l/_rOPTOkKtOHZW
https://dl.doubtnut.com/l/_rT1y3R9jibUH
https://dl.doubtnut.com/l/_ZmcBw5CRKQMT
https://dl.doubtnut.com/l/_G4iBVZShCkiS


Watch Video Solution

225. Explain why phenol behaves as an acid ?

Watch Video Solution

226. Express 3111 in roman numbers.

Watch Video Solution

227. How do you account for the miscibility of ethoxy ethane with water.

Watch Video Solution

228. Give the functional isomer of .

Watch Video Solution

CH3CH2OH

https://dl.doubtnut.com/l/_G4iBVZShCkiS
https://dl.doubtnut.com/l/_NTclr6Yzz1Hg
https://dl.doubtnut.com/l/_Z5OVy30f2zbv
https://dl.doubtnut.com/l/_9Gx03eMTPeyJ
https://dl.doubtnut.com/l/_bHB1BOHePUrX
https://dl.doubtnut.com/l/_M9PlnkkNGOMs


229. Why ethers have low boiling points than isomeric alcohols?

Watch Video Solution

230. Give the position isomer of  (Butan-1-ol).

Watch Video Solution

CH3CH2CH2CH2OH

231. Distinguish between primary, secondary andtertiary alcohols by

chemical test.

Watch Video Solution

232. Why primary alcohols are more acidic than secondary alcohols?

Watch Video Solution

https://dl.doubtnut.com/l/_M9PlnkkNGOMs
https://dl.doubtnut.com/l/_UQXwqoLMTem9
https://dl.doubtnut.com/l/_M2IwZZSKBhTi
https://dl.doubtnut.com/l/_YqTtT7Oe9WQT


233. Discuss the dehydrogenation of primary, secondary and tertiary

alcohols.

Watch Video Solution

234. Ethers possess a dipole moment even if the alkyl groups in the

molecule are identical. Explain.

Watch Video Solution

235. Give the position isomer of  (Propan-1-ol).

Watch Video Solution

CH3CH2CH2OH

236. Write the IUPAC name of the following compound :

Watch Video Solution

CH3 − CH
∣

Cl

− C
∣

OH

= CH2

https://dl.doubtnut.com/l/_ySZdygxAEqiy
https://dl.doubtnut.com/l/_SRO2DmMHd3hU
https://dl.doubtnut.com/l/_zgAOMXTuQDGg
https://dl.doubtnut.com/l/_ebFj1CzFwvoA


237. How will you convert phenol into phenolphthalein, picric acid and

salol.

Watch Video Solution

238. Write the equations involved in the following reaction : Reimer

Tiemann reaction.

Watch Video Solution

239. Give one example of the following reaction : Williamson's synthesis.

Watch Video Solution

240. How will you convert : Propan-2-ol to 2-methylpropan-2-ol?

Watch Video Solution

https://dl.doubtnut.com/l/_ebFj1CzFwvoA
https://dl.doubtnut.com/l/_duzbaG89QZkL
https://dl.doubtnut.com/l/_6gVQ7905VDSE
https://dl.doubtnut.com/l/_cGm3rEO6VPT9
https://dl.doubtnut.com/l/_VpsNrz7CUFTY


241. Express 3112 in roman numbers.

Watch Video Solution

242. Express 3113 in roman numbers.

Watch Video Solution

243. What happens when phenol is heated with Zn dust? Give equation.

Watch Video Solution

244. Complete the following reaction : 

Watch Video Solution

C6H5OCH3
HI
−−→ ?

https://dl.doubtnut.com/l/_VpsNrz7CUFTY
https://dl.doubtnut.com/l/_MDgaSqJ4gWia
https://dl.doubtnut.com/l/_5riAcrmXZiew
https://dl.doubtnut.com/l/_8hC2TFEdsLQc
https://dl.doubtnut.com/l/_bRWYSTuecldr


245. Complete the following reaction : 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− OH
Cu
−−→
573K

?

246. Express 3115 in roman numbers.

Watch Video Solution

247. What happens when phenol reacts with NaOH .

Watch Video Solution

248. What happens when phenol reacts with dil.  .

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_IMxjiPUqa4l5
https://dl.doubtnut.com/l/_2JA5DCYsAvAw
https://dl.doubtnut.com/l/_b4izTHy25aob
https://dl.doubtnut.com/l/_lPoWwqUpnnMm


249. Express 3116 in roman numbers.

Watch Video Solution

250. Write the main product(s) in each of the following reaction :

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− O − CH3 + HI

251. Write the main product(s) in each of the following reaction :

Watch Video Solution

CH3 − CH = CH2

( i )B2H6

−−−−−−−−−→
( ii ) 3H2O2 /OH

252. Write the main product(s) in each of the following reaction :

C6H5 − OH
( i ) aq .NaOH
−−−−−−−−→
( ii )CO2 ,H +

https://dl.doubtnut.com/l/_t1N9vDprVLsv
https://dl.doubtnut.com/l/_XCAoP1ItFMfK
https://dl.doubtnut.com/l/_RU11Nc2SwppZ
https://dl.doubtnut.com/l/_OHbP4I4WAhdT


Watch Video Solution

253. Express 3117 in roman numbers.

Watch Video Solution

254. How would you convert the following: bromoethane to nitroethane

Watch Video Solution

255. How would you convert the following: Phenol to benzoquinone.

Watch Video Solution

256. Write the iupac name : 

Watch Video Solution

CH3

CH3

∣

CH

Br

∣

CH2

https://dl.doubtnut.com/l/_OHbP4I4WAhdT
https://dl.doubtnut.com/l/_6Az0cHSpf1mw
https://dl.doubtnut.com/l/_5dhN3BP9jaqn
https://dl.doubtnut.com/l/_0jZJ4J2i7mUI
https://dl.doubtnut.com/l/_NYQaXT6GL2oY


257. Express 3118 in roman numbers.

Watch Video Solution

258. Express 3120 in roman numbers.

Watch Video Solution

259. How would you obtain the following - 2-Methylpropan-2-ol from

methyl magnesium bromide?

Watch Video Solution

260. How would you obtain the following : Propan-2-ol from propene ?

Watch Video Solution

https://dl.doubtnut.com/l/_rEtr6U9YMUt2
https://dl.doubtnut.com/l/_RjCe4lKAnQoI
https://dl.doubtnut.com/l/_KHbvVkFq6Cl0
https://dl.doubtnut.com/l/_OU5rxBfhvxHp


261. Express 3121 in roman numbers.

Watch Video Solution

262. Express 3122 in roman numbers.

Watch Video Solution

263. Express 3123 in roman numbers.

Watch Video Solution

264. Explain the mechanism of the following reaction :

Watch Video Solution

CH3CH2OH
H +

−−→
443

CH2 = CH2 + H2O

https://dl.doubtnut.com/l/_jK6yFDvUZ1QG
https://dl.doubtnut.com/l/_IM8T8rjRFBgm
https://dl.doubtnut.com/l/_Q7OErLCj1Bgb
https://dl.doubtnut.com/l/_p4zg5lQHezSP


265. Write the mechanism of the following reaction :

Watch Video Solution

CH3CH2OH
HBr
−−→ CH3CH2Br + H2O

266. Give reasons fer the following : 

o-nitrophenol is more acidic than o-methoxyphenol.

Watch Video Solution

267. Give reasons for the following: Butan-1-ol has a higher boiling point

than diethyl ether.

Watch Video Solution

268. Give reasons for the following:  on reaction

with HI gives  and  as the main products and

(CH3)3C − O − CH3

(CH3)3C − I CH3 − OH

https://dl.doubtnut.com/l/_IpJPWqmHO9tc
https://dl.doubtnut.com/l/_tYjEyCom0omX
https://dl.doubtnut.com/l/_bRggATpOhqiy
https://dl.doubtnut.com/l/_PpiKI0b55bOY


not  and .

Watch Video Solution

(CH3)3C − OH CH3 − I

269. Express 3125 in roman numbers.

Watch Video Solution

270. Express 3126 in roman numbers.

Watch Video Solution

271. Express 3127 in roman numbers.

Watch Video Solution

272. Express 3128 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_PpiKI0b55bOY
https://dl.doubtnut.com/l/_NK0cOpfd6TP5
https://dl.doubtnut.com/l/_IS5I0w8zPEOC
https://dl.doubtnut.com/l/_Ep7NYs33nOht
https://dl.doubtnut.com/l/_LAkXro58Yluw


Watch Video Solution

273. Express 3130 in roman numbers.

Watch Video Solution

274. Give reasons for the following: Boiling point of ethanol is higher

than that of dimethyl ether.

Watch Video Solution

275. Anisole on reaction with HI gives phenol and  as main

products and not iodobeneze and .

Watch Video Solution

CH3 − I

CH3OH

276. Express 3131 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_LAkXro58Yluw
https://dl.doubtnut.com/l/_reC2gUmNSjQ3
https://dl.doubtnut.com/l/_fgmEkfnupC4Y
https://dl.doubtnut.com/l/_GWS6WqXKRXz1
https://dl.doubtnut.com/l/_pijrnJd1imml


277. Write Kolbe reaction of phenol.

Watch Video Solution

278. Write two uses of methanol.

Watch Video Solution

279. Discuss the dehydrogenation of primary alcohols.

Watch Video Solution

280. Write the following reaction : 

Diethyl ether with HI.

Watch Video Solution

https://dl.doubtnut.com/l/_pijrnJd1imml
https://dl.doubtnut.com/l/_FWVvfeAUrLkw
https://dl.doubtnut.com/l/_ykP1bqPOd4hh
https://dl.doubtnut.com/l/_f5or3GujwaJK
https://dl.doubtnut.com/l/_YltLxngb3Ndc
https://dl.doubtnut.com/l/_ybZ08CkKBTl7


281. Write the followingreactions : 

Phenol with benzene diazonium chloride.

Watch Video Solution

282. Write the following reaction : 

Alcohol with .

Watch Video Solution

SOCl2

283. Discuss the acidic dehydration of primary alcohols at 443 K.

Watch Video Solution

284. Write Reimer-Tiemann reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_ybZ08CkKBTl7
https://dl.doubtnut.com/l/_iJFxbGIb39J7
https://dl.doubtnut.com/l/_Wc7D84KKJ0gY
https://dl.doubtnut.com/l/_QQsVI9xxky5L
https://dl.doubtnut.com/l/_85KeYBmHvQH4


285. Write two uses of ethanol.

Watch Video Solution

286. Why are ethers relatively inert compounds ?

Watch Video Solution

287. Write the following reaction : 

Diethyl ether with .

Watch Video Solution

Cl2

288. Write the following reactions : 

Phenol with zinc dust.

Watch Video Solution

https://dl.doubtnut.com/l/_85KeYBmHvQH4
https://dl.doubtnut.com/l/_dpW5pzjZg1vc
https://dl.doubtnut.com/l/_qShOrj8NOixa
https://dl.doubtnut.com/l/_6lMZG8OO1ATb
https://dl.doubtnut.com/l/_8hDQAhL4MI20


289. Write the following reaction : 

Alcohol with .

Watch Video Solution

PCl5

290. Write Williamson synthesis. Illustrate its limitations.

Watch Video Solution

291. Why primary alcohols are more acidic than secondary alcohols?

Watch Video Solution

292. How is phenol converted into salicylaldehyde ?

Watch Video Solution

https://dl.doubtnut.com/l/_8hDQAhL4MI20
https://dl.doubtnut.com/l/_dEvxI9Ey2K7p
https://dl.doubtnut.com/l/_H00DMMBuhBBX
https://dl.doubtnut.com/l/_IOxNDsBvUh18


293. Convert phenol into: Benzene.

Watch Video Solution

294. How is phenol converted into picric acid ?

Watch Video Solution

295. Out of phenol and benzene which is more easily nitrated and why ?

Watch Video Solution

296. Account for the following : How will you convert benzene diazonium

chloride to phenol ?

Watch Video Solution

https://dl.doubtnut.com/l/_V1boZKrNgvuV
https://dl.doubtnut.com/l/_YoiTSEFTpDDt
https://dl.doubtnut.com/l/_elTIRbcNCzfl
https://dl.doubtnut.com/l/_HClRCYtOAHDv


297. Write short notes on the following : Friedel-Craft’s alkylation.

Watch Video Solution

298. Complete the following reaction :

Watch Video Solution

CH3CH2OH + [O]
K2Cr2O7

−−−−→
H2SO4

? + ?

299. Write short notes on : 

Wurtz reaction

Watch Video Solution

300. Write short notes on the 

Finkelstein reaction

Watch Video Solution

https://dl.doubtnut.com/l/_SFF9E5HsfzQQ
https://dl.doubtnut.com/l/_pazVrUpfBy6p
https://dl.doubtnut.com/l/_NJAW79V7AIVr
https://dl.doubtnut.com/l/_oJ4p04NLDC85


301. Write short notes on: Saytzeff’s rule.

Watch Video Solution

302. Complete the following reaction : 

Watch Video Solution

CH2 = CH2 + O3 → ?
H2O ,Zn
−−−−→
−H2O

?

303. Give the structural formulae and IUPAC names of the isomers with

the molecular formula . Arrange them in increasing order of their

boiling point.

Watch Video Solution

C3H8O

304. Phenol is usually manufactured from cumene. Write the structure of

cumene.

Watch Video Solution

https://dl.doubtnut.com/l/_oJ4p04NLDC85
https://dl.doubtnut.com/l/_v6pS69JHmQSk
https://dl.doubtnut.com/l/_kAg6K3J6JB0P
https://dl.doubtnut.com/l/_O35bkcAfnA3x
https://dl.doubtnut.com/l/_KBR1kTlZUBOU


Watch Video Solution

305. Primary, secondary and tertiary alcohols can be distinguished by

Lucas test. What is Lucas reagent ?

Watch Video Solution

306. Primary, secondary and tertiary alcohols can be distinguished by

Lucas test. Write the observation for primary, secondary and tertiary

alcohols in Lucas test.

Watch Video Solution

307. What happens when phenol is treated with  at 4-7 atm pressure.

Give reaction also.

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_KBR1kTlZUBOU
https://dl.doubtnut.com/l/_eH54m1bbE6PW
https://dl.doubtnut.com/l/_XxHPFOz2sdir
https://dl.doubtnut.com/l/_5YJyKnh4LFbr


308. What happens when phenol is treated with . Give reaction

also.

Watch Video Solution

Br2 /CS2

309. What happens when phenol is treated with , NaOH at 340 K .

Give reaction also.

Watch Video Solution

CHCl3

310. How will you distinguish between isopropyl alcohol and ethyl alcohol.

Watch Video Solution

311. Discuss the reaction and mechanism of acidic dehydration of ethyl

alcohol to prepare ethene.

Watch Video Solution

https://dl.doubtnut.com/l/_pHXHXLxrTddG
https://dl.doubtnut.com/l/_A5nroqGl705T
https://dl.doubtnut.com/l/_4StX6rsBxkfY
https://dl.doubtnut.com/l/_5yQGg5l5OLm2


312. What happens when phenol reacts with dil.  .

Watch Video Solution

HNO3

313. What happens when phenol is treated with conc .  ?

Watch Video Solution

HNO3

314. How will you prepare phenol from Haloarenes?

Watch Video Solution

315. How will you prepare phenol from Diazonium salts?

Watch Video Solution

https://dl.doubtnut.com/l/_5yQGg5l5OLm2
https://dl.doubtnut.com/l/_IeUzBdcEwLkr
https://dl.doubtnut.com/l/_IeCCEyWeUmRQ
https://dl.doubtnut.com/l/_tQwu6M6iXBvO
https://dl.doubtnut.com/l/_shVi2sghQJil


316. How will you prepare phenol from Cumene ?

Watch Video Solution

317. How will you prepare the following compound using Grignard

reagent, Primary alcohol?

Watch Video Solution

318. How will you prepare the following compound using Grignard

reagent ,Secondary alcohol ?

Watch Video Solution

319. How can you distinguish primary, secondary and teriary alcohols by

Lucas Test?

Watch Video Solution

https://dl.doubtnut.com/l/_Rt7QwTJZfMqS
https://dl.doubtnut.com/l/_LVPzxKh90Urn
https://dl.doubtnut.com/l/_hjtBNiCOkshR
https://dl.doubtnut.com/l/_9FqTlgz4L5es


320. Write the correct pair of reactants for the preparation of t-butyl

ethyl ether by Williamson synthesis.

Watch Video Solution

https://dl.doubtnut.com/l/_9FqTlgz4L5es
https://dl.doubtnut.com/l/_0quLhWlM0qkk


321. Give chemical reactions when 

 is reacted

https://dl.doubtnut.com/l/_2eSwCthmZtHn


with Conc.  ?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_2eSwCthmZtHn


322. Give chemical reactions when 

 is reacted

https://dl.doubtnut.com/l/_qkfEoq2CnW4K


with Bromine water?

Watch Video Solution

323. Explain with examples the preparation of alcohols by using

hydroboration oxidation of aldehydes and ketones. Also give chemical

reactions involved.

Watch Video Solution

324. Ethanol, commonly called aa alcohol is an excellent solvent and is

used in medicines and synthesis of many chemical compounds. However,

in spite of its benefits to man, its impact on social behaviour has always

been questioned. Media have often shown abnormal behaviour of people

while drunk. It is considered as a curse in the lives of those who are

addicted to alcohol called ‘alcoholic’ people because it not only affects

their own lives but they are also a threat to the liven of others. Angor and

rude behaviour are some of its ill effects. Comment on the statement

https://dl.doubtnut.com/l/_qkfEoq2CnW4K
https://dl.doubtnut.com/l/_MFnEQxSJ5nZk
https://dl.doubtnut.com/l/_ThrKTAAyDx7T


‘Should production of alcohol be banned’. Give three valid reasons to

justify.

Watch Video Solution

325. Ethanol, commonly called aa alcohol is an excellent solvent and is

used in medicines and synthesis of many chemical compounds. However,

in spite of its benefits to man, its impact on social behaviour has always

been questioned. Media have often shown abnormal behaviour of people

while drunk. It is considered as a curse in the lives of those who are

addicted to alcohol called ‘alcoholic’ people because it not only affects

their own lives but they are also a threat to the liven of others. Angor and

rude behaviour are some of its ill effects. Comment on the statement

‘Should production of alcohol be banned’. Give three valid reasons to

justify.

Watch Video Solution

https://dl.doubtnut.com/l/_ThrKTAAyDx7T
https://dl.doubtnut.com/l/_shajAyWWFitD


326. The labourers of a colony used to drink cheaper alcohol from

unauthorised sources. This alcohol contained some methanol. One day a

few labourers complained of drowsiness and pain, and loss of eyesight

after consuming the liquor. Their family members took them to the

hospital and the doctors tried to treat them. One of the labourers died

and other complained loss of their eyesight. As a student of science, how

would you analyse this serious situation ?
 How does drinking of cheap

alcohol cause problem ?

Watch Video Solution

327. The labourers of a colony used to drink cheaper alcohol from

unauthorised sources. This alcohol contained some methanol. One day a

few labourers complained of drowsiness and pain, and loss of eyesight

after consuming the liquor. Their family members took them to the

hospital and the doctors tried to treat them. One of the labourers died

and other complained loss of their eyesight. As a student of science, how

https://dl.doubtnut.com/l/_HXxM9PpdgcFt
https://dl.doubtnut.com/l/_zdmvpjn0vEcN


would you analyse this serious situation ?
What message would you give

to the persons who consume spurious alcohol ?

Watch Video Solution

328. Which one of the following is most acidic ?

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

CH3OH

CH3CH2OH

(CH3)2CHOH

(CH3)3COH

329. Which one of tho following compounds would not be easily oxidised

by  and sulphuric acid ?K2Cr2O7

https://dl.doubtnut.com/l/_zdmvpjn0vEcN
https://dl.doubtnut.com/l/_n2W2v5i4lkLF
https://dl.doubtnut.com/l/_MOiUVBWeTd2Z


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2OH

(CH3)2CHOH

(CH3)3COH

CH3CHO.

330. Phenol is more acidic than ethyl alcohol because

A. phenoxide ion is more resonance stabilised than phenol

B. there is more hydrogen bonding in phenol than ethyl alcohol

C. ethoxide ion is less resonance stabilised than ethyl alcohol

D. phenol has higher boiling point than ethyl alcohol.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MOiUVBWeTd2Z
https://dl.doubtnut.com/l/_TAfMYt7qUTy0


331. Which of the following alcohols is most reactive with HCl in the

presence of  ?

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

ZnCl2

CH3 −

CH3

∣

C
∣

CH3

− OH

CH3 − CH
∣

CH3

− CH2OH

CH3 − CH
∣

CH3

− OH

CH3OH

332. Isopropyl alcohol is oxidised with  and  to give :

A. 

B. 

K2Cr2O7 H2SO4

CH3CHO

CH3COCH3

https://dl.doubtnut.com/l/_TAfMYt7qUTy0
https://dl.doubtnut.com/l/_nTjVMIHLaE4z
https://dl.doubtnut.com/l/_1Ch7TWBXtMmC


C. 

D. .

Answer:

Watch Video Solution

CH3CH2CH2COOH

CH3CH = CH2

333. Write the iupac name : 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3

CH3

∣

CHOH

https://dl.doubtnut.com/l/_1Ch7TWBXtMmC
https://dl.doubtnut.com/l/_WJkPUEbHjReY


334. Phenol upon distiliation with zinc dust gives :

A. benzene

B. benzaldehyde

C. benzoic acid

D. benzophenone.

Answer:

Watch Video Solution

335. The end product in the following sequence is :

A. Salicylic acid

B. Salicylaldehyde

C. Phenyl acetate

Phenol
NaOH
−−−→ A

CO2

−−−→
140

∘
C
B

H + ,H2O
−−−−−→ C

(CH3CO ) 2O

−−−−−−−→ D

https://dl.doubtnut.com/l/_jftXsYWPNk6r
https://dl.doubtnut.com/l/_sy8NWWU8Dni8


D. Aspirin.

Answer:

Watch Video Solution

336. Which of the following reagent cannot be used to distinguish

between phenol and benzyl alcohol

A. NaOH

B. 

C. 

D. 

Answer:

Watch Video Solution

NaHCO3

Br2 /CCl4

FeCl3

https://dl.doubtnut.com/l/_sy8NWWU8Dni8
https://dl.doubtnut.com/l/_v1DglckP6488


337. Ethers are isomeric with

A. aldehydes

B. vinyl alcohols

C. alcohols

D. ketones.

Answer:

Watch Video Solution

338. Diethyl ether on treatment with excess  gives

A. perchlorodiethyl ether

B. ethyl chloride

C. ethanoyl chloride

D. diethyl ether peroxide.

Cl2

https://dl.doubtnut.com/l/_J0srCGi9TfKS
https://dl.doubtnut.com/l/_r0TeWrbVXCMl


Answer:

Watch Video Solution

339. Anisole reacts with HI at 373 K to give

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

C6H5I + CH3OH

CH3I + C6H5OH

C6H5CH2OH + CH3I

CH3CH2I + C6H5OH

340. Ethers can be distinguished from alcohols by the following reaction :

A. reaction with Na

https://dl.doubtnut.com/l/_r0TeWrbVXCMl
https://dl.doubtnut.com/l/_pmaBqTrk1HnS
https://dl.doubtnut.com/l/_ytRGzaFInUf2


B. reaction with 

C. reaction with 2, 4-dinitrophenyl hydrazine

D. none of these.

Answer:

Watch Video Solution

PCl5

341. Express 3132 in roman numbers.

Watch Video Solution

342. Express 3133 in roman numbers.

Watch Video Solution

343. Express 3135 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_ytRGzaFInUf2
https://dl.doubtnut.com/l/_aPGr02QJm9oC
https://dl.doubtnut.com/l/_ScepGTJ4DHG3
https://dl.doubtnut.com/l/_DD0UOSu1AwkI


Watch Video Solution

344. Express 3136 in roman numbers.

Watch Video Solution

345. Express 3137 in roman numbers.

Watch Video Solution

346. Express 3138 in roman numbers.

Watch Video Solution

347. Express 3150 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_DD0UOSu1AwkI
https://dl.doubtnut.com/l/_joaUSDQkjvDw
https://dl.doubtnut.com/l/_VoyNT6taaT53
https://dl.doubtnut.com/l/_AujCY9v62sRf
https://dl.doubtnut.com/l/_xv5oMcUQ9KPm
https://dl.doubtnut.com/l/_T8IlULjBwI6M


348. Express 3151 in roman numbers.

Watch Video Solution

349. Express 3152 in roman numbers.

Watch Video Solution

350. Express 3153 in roman numbers.

Watch Video Solution

351. Find the decimal representation of 

A. 

B. 

2

3

https://dl.doubtnut.com/l/_T8IlULjBwI6M
https://dl.doubtnut.com/l/_rIBa6mUmTJ22
https://dl.doubtnut.com/l/_IQZwUpyDejYj
https://dl.doubtnut.com/l/_T80EjiC3MotH


C. 

D. 

Answer:

Watch Video Solution

352. 1-Propanol and 2-Propanol Can be best distinguished by

A. oxdation with alkaline  followed by reaction with Fehling

solution

B. oxidation with acidic dichromate followed by reaction with Fehbling

solution

C. oxidation by heating with copper followed by reaction with Fehling

solution

KMnO4

https://dl.doubtnut.com/l/_T80EjiC3MotH
https://dl.doubtnut.com/l/_yCneLSWrE4bz


D. oxidation with conc.  followed by reaction with Fehling

solution

Answer:

Watch Video Solution

H2SO4

353. An ether is more volatile than an alcohol having the same molecular

formula. This is due to:

A. intermolecular hydrogen bonding in alcohols

B. dipolar character of ethers

C. alcohols having resonance structures

D. intermolecular hydrogen bonding in ethers.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yCneLSWrE4bz
https://dl.doubtnut.com/l/_AvoKp0gz5H4W
https://dl.doubtnut.com/l/_P6ruQoVm84iN


354. 

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

C6H5OC2H5

C2H5OC2H5

C6H5OC6H5

C6H5I

355. When phenol is treated with  and NaOH, the product formed

is

A. Benzaldehyde

CHCl3

https://dl.doubtnut.com/l/_P6ruQoVm84iN
https://dl.doubtnut.com/l/_try52y860y1g


B. Salicylaldehyde

C. Salicylic acid

D. Benzoic acid.

Answer:

Watch Video Solution

356. During dehydration of alcohols to alkenes by heating with conc.

, the initial step is

A. formation of an ester

B. protonation of alcohol molecule

C. formation of carbocation

D. elimination of water

Answer:

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_try52y860y1g
https://dl.doubtnut.com/l/_eyvzetVCEnNo


357. Which of the following compounds will give a yellow precipitate with

iodine and alkali ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2CH(OH)CH3

CH3OH

CH3CH2OH

CH3CH(OH)CH3

358. Among the following compounds which can be dehydrated very

easily is

A. CH3CH2

CH3

∣

C
∣

OH

CH2CH3

https://dl.doubtnut.com/l/_eyvzetVCEnNo
https://dl.doubtnut.com/l/_rTPEqR1Z0KEc
https://dl.doubtnut.com/l/_z8yBGIzkizRq


B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2CH2CH
∣

OH

CH3

CH3CH2CH2CH2OH

CH3CH2CH
∣

CH3

CH2CH2OH

359. The major organic product in the reaction

 Product is

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

CH3 − O − CH(CH3)2 + HI →

ICH2OCH(CH3)2

CH3OC
∣

I

(CH3)2

CH3I + (CH3)2CHOH

CH3OH + (CH3)2CHI

https://dl.doubtnut.com/l/_z8yBGIzkizRq
https://dl.doubtnut.com/l/_RuRi4BnHiXq9


Watch Video Solution

360. In the reaction :

 The products are:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH
∣

CH3

− CH2 − O − CH2 − CH3 + HI
Heat
−−→

CH3 − CH
∣

CH3

− CH2OH + CH3CH3

CH3 − CH
∣

CH3

− CH3 + CH3CH2OH

CH3 − CH
∣

CH3

− CH2OH + CH3CH2I

CH3 − CH
∣

CH3

− CH2 − I + CH3CH2OH

361. Consider the following reaction :


The product Z isEthanol
PBr3
−−→ X

alc .KOH
−−−−−→ Y

( i )H2SO

−−−−−−−→
( ii )H2O , Δ

Z

https://dl.doubtnut.com/l/_RuRi4BnHiXq9
https://dl.doubtnut.com/l/_tpvhBv7YaXVd
https://dl.doubtnut.com/l/_DxLewiTrmXQa


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2OCH2CH3

CH3CH2O − SO3H

CH3CH2OH

CH2 = CH2

362.  The product Z is

A. Benzaldehyde

B. Benzoic acid

C. Benzene

D. Toluene

Answer:

Watch Video Solution

Phenol
Zn ,dust
−−−−→ X

CH3Cl
−−−−−−−→
Anhyd .AlCl3

Y
Alkaline
−−−−→
KMnO4

Z

https://dl.doubtnut.com/l/_DxLewiTrmXQa
https://dl.doubtnut.com/l/_8SiBxp5OLeTp


363. Which of the following compounds is most acidic

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8SiBxp5OLeTp
https://dl.doubtnut.com/l/_O7J6dAXkRutA


364. Given are cyclohexanol (I), acetic acid (II), 2, 4,6- trinitrophenol (III)

and phenol (IV). In these the order of decreasing acidic character will be :

A. (a)

B. (b)

C. (c)

D. (d)

Answer:

Watch Video Solution

II > III > IV > I

III > IV > II > I

III > II > IV > I

III > II > I > IV

365. Among the following ethers, which one will produce methyl alcohol

on treatment with hot concentrated HI ?

A. 

B. 

CH3 −

CH3

∣

C
∣

CH3

− O − CH3

CH3 − CH
∣

CH3

− CH2 − O − CH3

https://dl.doubtnut.com/l/_fR4HFSwOgflh
https://dl.doubtnut.com/l/_CgPL20ViUqtn


C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − O − CH3

CH3 − CH2 − CH
∣

CH3

− O − CH3

366. Among the following seta of reactants which one produces anisole ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CHO, RMgX

C6H5OH, NaOH, CH3I

C6H5OH, ≠ utralFeCl3

C6H5CH3, CH3COCl, AlCl3

https://dl.doubtnut.com/l/_CgPL20ViUqtn
https://dl.doubtnut.com/l/_WYyDj15gpQmm


367. Identify Z in the sequence of reactions:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2CH = CH2

HBr ,H2O2

−−−−−−→ Y
C2H5ONa
−−−−−→ Z

CH3 − (CH2)3 − O − CH2CH3

(CH3)2CH − O − CH2CH3

CH3(CH2)4 − O − CH3

CH3CH2 − CH(CH3) − O − CH2CH3

368. Complete the reaction : 

https://dl.doubtnut.com/l/_2CbLKrU54XmT
https://dl.doubtnut.com/l/_JveCqNprD4pW


A. dehydration reaction

B. Williamson alcohol synthesis reaction

C. Williamson ether synthesis reaction

D. alcohol formation reaction

Answer:

Watch Video Solution

369. Primary, secondary and tertiary alcohols can be distinguished by

A. Borsche's test

B. Lucas test

C. Hinsberg's test

D. Tollen's test

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JveCqNprD4pW
https://dl.doubtnut.com/l/_ctLec0Ges0VP


370. Which of the following will be most readily dehydrated in acidic

conditions ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ctLec0Ges0VP
https://dl.doubtnut.com/l/_kk6URXWdvZBa


Answer:

Watch Video Solution

371. The correct IUPAC name of the organic compound

 is

A. 4-chloro-2, 3-dimethylpentan-1-ol

B. 2-chloro-3, 4-dimethylpentan-5-ol

C. 2, 3-dimethyl-4-chloropentan-1-ol

D. 2-chloro-3, 4-dimethyl-n-pentyl alcohol

Answer:

Watch Video Solution

CH3 − CH
∣

Cl

− CH
∣

CH3

− CH
∣

CH3

− CH2OH

372. Which one of the following phenols has the highest  value ?pKa

https://dl.doubtnut.com/l/_kk6URXWdvZBa
https://dl.doubtnut.com/l/_WENcI5WSpVPZ
https://dl.doubtnut.com/l/_JO5FucChhisU


A. o-Nitrophenol

B. Phenol

C. Picric acid

D. p-Cresol

Answer:

Watch Video Solution

373. Among the following the one that gives position iodoform test upon

reaction with  and NaOH is

A. 

B. 

C. 

D. 

Answer:

I2

C6H5CH2CH2OH

CH3 − CH
∣

CH3

CH2OH

PhCHOHCH3

CH3CH2CH(OH)CH2CH3

https://dl.doubtnut.com/l/_JO5FucChhisU
https://dl.doubtnut.com/l/_NjTcF2cCGUxW


Watch Video Solution

374. The electrophile involved in the given reaction is 

A. dichlorocarbene 

B. trichloromethyl anion 

C. formyl cation 

D. dichloromethyl cation 

Answer:

Watch Video Solution

⟨CCl2)

(
−

CCl3)

(
+

CHO)

(
+

CHCl2)

375. Choose the correct option-
Which part of brinjal plant is edible?

https://dl.doubtnut.com/l/_NjTcF2cCGUxW
https://dl.doubtnut.com/l/_pRriCnIy9s0W
https://dl.doubtnut.com/l/_OsqQtgkQX20l


A. Seeds

B. Fruit

C. Stem

D. Root

Answer:

Watch Video Solution

376. In the following sequence of reactions :


The compound D is

A. n-butyl alcohol

B. n-propyl alcohol

C. propanal

D. butanal

Answer:

CH3CH2OH
P ,I2
−−→ A

Mg

−−→
ether

B
HCHO
−−−→ C

H2O
−−→ D

https://dl.doubtnut.com/l/_OsqQtgkQX20l
https://dl.doubtnut.com/l/_r5Rfeja2eD9Y


Watch Video Solution

377. Phenol when it first reacts with concentrated sulphuric acid and then

with concentrated nitric acid gives

A. nitrobenzene

B. 2,4,6- trinitrobenzene

C. o-nitrophenol

D. p-nitrophenol

Answer:

Watch Video Solution

378. The major product obtained on interaction of phenol with NaOH and

 is

A. Benzoic acid

CO2

https://dl.doubtnut.com/l/_r5Rfeja2eD9Y
https://dl.doubtnut.com/l/_CenayHkULmuU
https://dl.doubtnut.com/l/_FR4c2bYqg1gU


B. Salicylaldehyde

C. Salicylic acid

D. Phthalic acid

Answer:

Watch Video Solution

379. The main product of the following reaction

 is

A. 

B. 

C. 

C6H5CH2CH(OH)CH(CH3)2
Conc .H2SO4

−−−−−−−→

https://dl.doubtnut.com/l/_FR4c2bYqg1gU
https://dl.doubtnut.com/l/_qKmjNDDeL0jL


D. 

Answer:

Watch Video Solution

380. The correct order of acidic strength of the following compounds : 

I. Phenol II. p-Cresol 

III. m-Nitrophenol IV. p-nitrophenol

A. IVgtIIIgtIgtII

B. IIgtIVgtIgtIII

C. Igt IIgtIVgtIII

D. IIIgtIIgtIgtIV

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qKmjNDDeL0jL
https://dl.doubtnut.com/l/_kc0nJhLYW2RZ


381. Which of the following reagents may be used to distinguish between

phenol and benzoic acid ?

A. Molisch reagent

B. Neutral 

C. Aqueous NaOH

D. Tollen's reagent

Answer:

Watch Video Solution

FeCl3

382. Ortho-nitrophenol is less soluble in water than p-and m-nitrophenols

because

A. o-nitrophenol shows intramolecular H-bonding

B. o-nitrophenol shows intermolecular H-bonding

https://dl.doubtnut.com/l/_kc0nJhLYW2RZ
https://dl.doubtnut.com/l/_oGte9rDe3sAQ
https://dl.doubtnut.com/l/_7Grnfh9WFThr


C. melting point of o-nitrophenol is lower than those of m- and p-

isomers

D. o-nitrophenol is more volatile in steam than those of m- and p-

isomers

Answer:

Watch Video Solution

383. Choose the correct option-
The edible part of potato plant is-

A. Flower

B. Leaves

C. Stem

D. Roots

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7Grnfh9WFThr
https://dl.doubtnut.com/l/_fZZnsMnZNc0d


384. The most suitable reagent for the conversion of

 is

A. PCC (Pyridinium chlorochromate)

B. 

C. 

D. 

Answer:

Watch Video Solution

R − CH2 − OH → R − CHO

KMnO4

K2Cr2O7

CrO3

385. Identify the product/s in the following reaction :

A. 

B. 

3CH3CH = CH2

BH3
−−→ X

H2O2 ,OH
−

−−−−−−→ product/s + H3BO3

CH3CH2CH2OH

CH3CHOHCH3

https://dl.doubtnut.com/l/_fZZnsMnZNc0d
https://dl.doubtnut.com/l/_jvVmBcJvlW0b
https://dl.doubtnut.com/l/_lBViBXfMtXW3


C. 

D. 

Answer:

Watch Video Solution

CH3CH2CHO

CH3CH2OH + CH3OH

386. The products obtained when benzyl phenyl ether is heated with HI in

the mole ratio 1: 1 are 1. phenol 2. benzyl alcohol
 3. benzyl iodide 4.

iodobenzene

A. 1 and 3 only

B. 3 and 4 only

C. 1 and 4 only

D. 2 and 4 only

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_lBViBXfMtXW3
https://dl.doubtnut.com/l/_38cAI7LxNdwE


387. An oxygen containing organic compound upon oxidation forms a

carboxylic acid as the only organic product with its molecular mass

higher by 14 units. The organic compounds

A. an aldehyde

B. a primary alcohol

C. a secondary alcohol

D. a ketone

Answer:

Watch Video Solution

388. Which of the following Grignard reagent is suitable for the

preparation of 3-methyl-2-butanol ?

A. 2-Butanone + methyl magnesium bromide

https://dl.doubtnut.com/l/_38cAI7LxNdwE
https://dl.doubtnut.com/l/_DN2cOqMiCkXq
https://dl.doubtnut.com/l/_skM9lXMNDyLP


B. Acetone + ethyl magnesium bromide

C. Acetaldehyde + isopropyl magnesium bromide

D. Ethyl propionate + methyl magnesium bromide

Answer:

Watch Video Solution

389. Identify B and D in the following sequence of reactions 

A. Methanol and bromoethane

B. Ethyl hydrogen sulphate and alcoholic KOH

C. Ethyl hydrogen sulphate and aqueous KOH

https://dl.doubtnut.com/l/_skM9lXMNDyLP
https://dl.doubtnut.com/l/_pGFAtFl6yPVj


D. Ethanol and alcoholic KOH

Answer:

Watch Video Solution

390. The hydroxyl compound that gives a precipitate immediately when

treated with concentrated hydrochloric acid and anhydrous zinc chloride

is

A. 3-methyl-2-butanol

B. 3-methyl-1-butanol

C. 1-butanol

D. 2-methyl-2-butanol

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pGFAtFl6yPVj
https://dl.doubtnut.com/l/_SezyXd5CsXAp
https://dl.doubtnut.com/l/_5veIYOeszF4g


391. Reaction of butanone with methylmagnesium bromide followed by

hydrolysis gives

A. 2-methyl-2-butanol

B. 2-butanol

C. 3-methyl-2-butanol

D. 2, 2-dimethyl-1-butanol

Answer:

Watch Video Solution

392. An oxygen containing organic compound was found to contain 52%

carbon and 13% of hydrogen. Its vapour density is 23. The compound

reacts with sodium metal to liberate hydrogen. A functional isomer of

this compound in

A. Ethanol

B. Ethanal

https://dl.doubtnut.com/l/_5veIYOeszF4g
https://dl.doubtnut.com/l/_zhbKx5ufKqVR


C. Methoxy methane

D. Methoxy ethane

Answer:

Watch Video Solution

393. Choose the correct option-
Potato is-

A. root

B. stem

C. leaf

D. fruit

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zhbKx5ufKqVR
https://dl.doubtnut.com/l/_mAbqXSM0brZA


394. Choose the correct option-
Brinjal is-

A. fruit

B. stem

C. leaf

D. root

Answer:

Watch Video Solution

395. Choose the correct option-
Carrot is-

A. fruit

B. leaf

C. stem

D. root

https://dl.doubtnut.com/l/_4kPVzCOsBRpM
https://dl.doubtnut.com/l/_BBVlXa3l8jJz


Answer:

Watch Video Solution

396. Complete the following statement-
 Chlorophyll is the component

used in the process of-

Watch Video Solution

397. Express 3155 in roman numbers.

Watch Video Solution

398. Express 3156 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_BBVlXa3l8jJz
https://dl.doubtnut.com/l/_N7uaT2ugN5sX
https://dl.doubtnut.com/l/_WV0RflVwD6v1
https://dl.doubtnut.com/l/_nmQwu2UZLYig


399. 0.44 g of a monohydric alcohol when added to methylmagnesium

iodide in ether liberates at S.T.P., 112  of methane. With PCC the same

alcohol forms a carbonyl compound that answers silver mirror test. The

monohydric alcohol is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm3

CH3 − CH
∣

OH

− CH2 − CH3

(CH3)3CCH2OH

CH3 − CH
∣

OH

− CH2CH2 − CH3

(CH3)2CH − CH2OH

400. Express 3158 in roman numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_OMCYsbEtsYQM
https://dl.doubtnut.com/l/_S5aTvQZKMM5g
https://dl.doubtnut.com/l/_6j40UO8eiJOZ


401. Express 3160 in roman numbers.

Watch Video Solution

402. Express 3161 in roman numbers.

Watch Video Solution

403. Express 3162 in roman numbers.

Watch Video Solution

404. Express 3163 in roman numbers.

Watch Video Solution

405. Express 3165 in roman numbers.

https://dl.doubtnut.com/l/_6j40UO8eiJOZ
https://dl.doubtnut.com/l/_RBG0ajy8aPcg
https://dl.doubtnut.com/l/_gp0YVtQ32jnp
https://dl.doubtnut.com/l/_sCeHQpYcOBc8
https://dl.doubtnut.com/l/_qbXXkRYDeM3y


Watch Video Solution

406. Express 3166 in roman numbers.

Watch Video Solution

407. Express 3167 in roman numbers.

Watch Video Solution

408. Express 3168 in roman numbers.

Watch Video Solution

409. Express  in roman numbers.

Watch Video Solution

3333

https://dl.doubtnut.com/l/_qbXXkRYDeM3y
https://dl.doubtnut.com/l/_DskbNGMgnzCj
https://dl.doubtnut.com/l/_GmYAhjILw5DO
https://dl.doubtnut.com/l/_Y3EzJdlWgblT
https://dl.doubtnut.com/l/_KRffwXbOhLrN
https://dl.doubtnut.com/l/_w9sAWwQLWVoe


410. The reaction which involves dichlorocarbene as an electrophile is

A. Reimer-Tiemann reaction

B. Kolbe's reaction

C. Friedel-Crafts’ acylation

D. Fitting's reaction

Answer:

Watch Video Solution

411. Ethanol is converted into ethoxyethane

A. by heating excess of ethanol with conc.  at 

B. by heating ethanol with excess of conc.  at 445K

C. by treating with conc. at room temperature

D. by treating with conc.  at 273 K.

H2SO4 140∘C

H2SO4

H2SO4

H2SO4

https://dl.doubtnut.com/l/_w9sAWwQLWVoe
https://dl.doubtnut.com/l/_hoaLpoEEPVNi


Answer:

Watch Video Solution

412. Ethyl ester . The product P is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3MgBr

−−−−−→
excess

P

https://dl.doubtnut.com/l/_hoaLpoEEPVNi
https://dl.doubtnut.com/l/_qM9fZrmwTXH3


413. Which of the following alcohols on dehydration with conc. 

give but - 2- ene

A. 2-Methyl propan-2-ol

B. Butan-1-ol

C. 2-Methyl propan-1-ol

D. Butan-2-ol

Answer:

Watch Video Solution

H2SO4

414. Which of the following alcohols give iodoform test ?

A. Butan-1-ol

B. Propan-1-ol

C. Propan-2-ol

https://dl.doubtnut.com/l/_qM9fZrmwTXH3
https://dl.doubtnut.com/l/_Fg7nu8Qak6em
https://dl.doubtnut.com/l/_SOsbUbXn1ylH


D. Ethanol

Answer:

Watch Video Solution

415. Which of the following are weaker acids than phenol ?

A. 4-Methoxy phenol

B. 3,5-dinitrophenol

C. 4-Methyl phenol

D. 4-Nitro phenol

Answer:

Watch Video Solution

416. Which of the following species are involved in the carbylamine test ?

https://dl.doubtnut.com/l/_SOsbUbXn1ylH
https://dl.doubtnut.com/l/_0f6TRYgV4HDv
https://dl.doubtnut.com/l/_1MwJFCqSVAka


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

417. Correct statement(s) in cases of n-butanol and t- butanol is (are)

A. both are having equal solubility in water

https://dl.doubtnut.com/l/_1MwJFCqSVAka
https://dl.doubtnut.com/l/_aCYwumz86B7b


B. t-butanol is more soluble in water than n-butanol

C. boiling point of t-butanol is lower than n-butanol

D. boiling point of n-butanol is lower than t-butanol

Answer:

Watch Video Solution

418. The correct combination of names for isomeric alcohols with

molecular formula  is/are

A. tert-butanol and 2-methylpropan-2-ol

B. tert-butanol and 1, 1-dimethylethan-1-ol

C. n-butanol and butan-1-ol

D. iso-butyl alcohol and 2-methylpropan-1-ol.

Answer:

Watch Video Solution

C4H10O

https://dl.doubtnut.com/l/_aCYwumz86B7b
https://dl.doubtnut.com/l/_tfGSM0f7ShYx


419. The correct statement(s) about the following reaction sequence

is(are)

A. R is steam volatile

B. Q gives dark violet colouration with 1 % aqueous  solution

C. S gives yellow precipitate with 2, 4- dinitro- phenylhydrazine

D. S gives dark violet colouration with 1% aqueous  solution

Answer:

Watch Video Solution

Cumene(C9H12)
( i )O2

−−−−−→
( ii )H3O+

P
CHCl3
−−−→
NaOH

Q(Maj or ) + R(Min or )Q
NaOH

−−−−−→
PhCH2Br

FeCl3

FeCl3

420. The electrophile in this electrophilic substitution reaction is

A. 

B. 

:CCl3

:CCl2

https://dl.doubtnut.com/l/_tfGSM0f7ShYx
https://dl.doubtnut.com/l/_FXE9poAwclNZ
https://dl.doubtnut.com/l/_23w1tiYPWNGi


C. 

D. 

Answer:

Watch Video Solution

CHCl+2

Cl−

421. When Phenol is react with  in place of  in the reaction,

the product formed is

A. 2-Acetoxybenzoic acid

B. 2-Hydroxybenzoic acid

C. 2-Carboxyphenol

D. none of these.

Answer:

Watch Video Solution

CCl4 CHCl3

https://dl.doubtnut.com/l/_23w1tiYPWNGi
https://dl.doubtnut.com/l/_QxZKYvjqZHQj
https://dl.doubtnut.com/l/_gRbhwzv4p2S2


422. How can you convert methyl iodide to ethanoic acid?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

423. Butan-2-ol on heating with Cu at 573 K gives

A. butanal

B. 2-butanone

C. propanone

D. but-2-ene

https://dl.doubtnut.com/l/_gRbhwzv4p2S2
https://dl.doubtnut.com/l/_Gr6FDcDuuulu


Answer:

Watch Video Solution

424. The product of the reaction :  is

A. 2-Methylpropanal

B. 2-Methylpropanoic acid

C. Butanoic acid

D. Butan-2-one

Answer:

Watch Video Solution

CH3 −

CH3

∣

CH
∣

CH3

− CH2OH
PCC

−−−−−→
Oxidation

425. Draw the structure of cinnamyl chloride.

A. 

https://dl.doubtnut.com/l/_Gr6FDcDuuulu
https://dl.doubtnut.com/l/_ts4jieEoV4Gp
https://dl.doubtnut.com/l/_JjmQ1iD8VNRU


B. 

C. 

D. 

Answer:

Watch Video Solution

426. Draw the structure of 4-bromotoluene

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JjmQ1iD8VNRU
https://dl.doubtnut.com/l/_QNaRPeeMfuOh
https://dl.doubtnut.com/l/_oJF4gtH95wlO


427. If , ,  and  are the position

vectors of points A,B,C and D respectively, then find the angle between

 and . Are  and  collinear?

A.  and 

B. 

C. 

D. 

Answer:

Watch Video Solution

î + ĵ + k̂ 2 î + 5ĵ 3 î + 2ĵ − 3k̂ î − 6ĵ − k̂

→
A B

→
C D

→
A B

→
C D

PhCOCH3, PhCH2COCH3 PhCH2COO
−K +

PhCHO, PhCH2CHO and PhCOO−K +

PhCOCH3, PhCH2CHO and CH3COO
−K +

PhCHO, PhCOCH3 and PhCOO−K +

428. The question given below consist of an Assertion and the Reason.

Use the following key to choose the appropriate answer.
 (a) If both

assertion and reason are CORRECT and reason is the CORRECT

explanation of the assertion.
 (b) If both assertion and reason are

CORRECT, but reason is NOT THE CORRECT explanation of the assertion.

https://dl.doubtnut.com/l/_oJF4gtH95wlO
https://dl.doubtnut.com/l/_oQAgF0L8PhyZ


(c) If assertion is CORRECT but reason is INCORRECT.
 (d) If assertion is

INCORRECT but reason is CORRECT.
 (e) If both assertion and reason are

INCORRECT. Assertion: The boiling points of alcohols are higher than

those ofhydrocarbons of comparable molecular mass.
 Reason : Alcohols

show intramolecular hydrogen bonding.

Watch Video Solution

429. Assertion: Phenol undergoes Kolbe's reaction but ethanol does not.

Reason : Phenol is more acidic than ethanol.

Watch Video Solution

430. C-O-C bond angle in ethers is higher than H-O-H bond angle in water

through O is  -hybridisedin both the cases.

Watch Video Solution

sp3

https://dl.doubtnut.com/l/_oQAgF0L8PhyZ
https://dl.doubtnut.com/l/_qrWSuBevYPhI
https://dl.doubtnut.com/l/_gUhUkkdbqBhH


431. Assertion: The boiling point of diethyl ether is Much less than that of

ethanol. Reason : In ethanol, the molecules are associated by the

formation of intermolecular hydrogen bonding whereas in diethyl ether,

it is not possible .

Watch Video Solution

432. Amines have higher boiling points than hydrocarbons of comparable

molecular masses.

Watch Video Solution

433. While separating a mixture of ortho and para-nitrophenols by steam

distillation, name the isomer which will be steam volatile ? Give reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_wlRoof46zJsI
https://dl.doubtnut.com/l/_xaUxVD8hEaG2
https://dl.doubtnut.com/l/_iSmMX26LttlY


434. Monochlorination of toluene in sunlight followed by hydrolysis with

aq. NaOH yields

A. o-Cresol

B. 2, 4-Dihydroxytoluene

C. m-Cresol

D. Benzyl alcohol

Answer:

Watch Video Solution

435. How many alcohols with molecular formula  are chiral in

nature?

A. 1

B. 2

C. 3

C4H10O

https://dl.doubtnut.com/l/_JPLRU56kCS4N
https://dl.doubtnut.com/l/_sy2QtxrOIQf6


D. 4

Answer:

Watch Video Solution

436. What is the correct order of reactivity of alcohols in the following

reaction?


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

R − OH + HCl
ZnCl2
−−−→ R − Cl + H2O

1∘ > 2∘ > 3∘

1∘ < 2∘ > 3∘

8∘ > 2∘ > 1∘

3∘ > 1∘ > 2∘

https://dl.doubtnut.com/l/_sy2QtxrOIQf6
https://dl.doubtnut.com/l/_5JVB8kik8lCu


437.  Can be converted into  by _______

A. catalytic hydrogenation

B. treatment with 

C. treatment with pyridinium chlorochromate

D. treatment with 

Answer:

Watch Video Solution

CH3CH2OH CH3CHO

LiAlH4

KMnO4

438. The process of converting alkyl halides into alcohols involves

________________ .

A. addition reaction

B. substitution reaction

C. dehydrohalogenation reaction

D. rearrangement reaction

https://dl.doubtnut.com/l/_IfStHuEMezbi
https://dl.doubtnut.com/l/_jNWwbobearkD


Answer:

Watch Video Solution

439. Give IUPAC name of the compound given below.

A. 2-Chloro-5-hydroxyhexane

B. 2-Hydroxy-5-chlorohexane

C. 5-Chlorohexan-2-ol

D. 2-Chlorohexan-5-ol

Answer:

Watch Video Solution

CH3 − CH
∣

Cl

− CH2 − CH2 − CH
∣

OH

− CH3

440. IUPAC name of m-cresol is __________ .

https://dl.doubtnut.com/l/_jNWwbobearkD
https://dl.doubtnut.com/l/_khC3NDb9sQ7q
https://dl.doubtnut.com/l/_T8OcIsDzWGaw


A. 3-methylphenol

B. 3-chlorophenol

C. 3-methoxyphenol

D. benzene-1,3-diol

Answer:

Watch Video Solution

441. IUPAC name of the compound  is

A. 1-methoxy-1-methylethane

B. 2-methoxy-2-methylethane

C. 2-methoxypropane

D. isopropylmethyl ether

Answer:

Watch Video Solution

CH3 − CH
∣

CH3

− OCH3

https://dl.doubtnut.com/l/_T8OcIsDzWGaw
https://dl.doubtnut.com/l/_gs8hYoEUV6Te


Watch Video Solution

442. Which of the following compounds will react with sodium hydroxide

solution in water ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H5OH

C6H5CH2OH

(CH3)3COH

C2H5OH

443. Phenol is less acidic than _______

A. ethanol

B. o-nitrophenol

https://dl.doubtnut.com/l/_gs8hYoEUV6Te
https://dl.doubtnut.com/l/_khFTyPDwV8Du
https://dl.doubtnut.com/l/_O69Ydn3MZ2Zu


C. o-methylphenol

D. o-methoxyphenol

Answer:

Watch Video Solution

444. Which of the following is most acidic?

A. Benzyl alcohol

B. Cyclohexanol

C. Phenol

D. m-Chlorophenol

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_O69Ydn3MZ2Zu
https://dl.doubtnut.com/l/_TbKVaSz6GUHw


445. Arrange the following compounds in increasing order of boiling

point: 

Propan-1-ol, butan-1-ol, butan-2-ol, pentan-1-ol

A. Propan-1-ol, butan-2-ol, butan-1-ol, pentan-1-ol

B. Propan-1-ol, butan-1-ol, butan-2-ol, pentan-1-ol

C. Pentan-1-ol, butan-2-ol, butan-1-ol, propan-1-ol

D. Pentan-1-ol, butan-1-ol, butan-2-ol, propan- 1-ol

Answer:

Watch Video Solution

446. In the following questions two or more options may be correct.

Which of the following are used to convert RCHO into  ?

A. 

B. 

RCH2OH

H2 /Pd

LiAlH4

https://dl.doubtnut.com/l/_DU9SOnpKu2EI
https://dl.doubtnut.com/l/_D1wFpjztxSGt


C. 

D. Reaction with RMgX followed by hydrolysis

Answer:

Watch Video Solution

NaBH4

447. Which of the following reactions will not result in the formation of C

- C bond ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_D1wFpjztxSGt
https://dl.doubtnut.com/l/_IA68XqddYjOF


D. 

Answer:

Watch Video Solution

448. Which of the following reagents can be used to oxidise primary

alcohols to aldehydes ?

A.  in anhydrous medium.

B.  in acidic medium.

C. Pyridinium chlorochromate

D. Heat in the presence of Cu at 673K.

Answer:

Watch Video Solution

CrO3

KMnO4

https://dl.doubtnut.com/l/_IA68XqddYjOF
https://dl.doubtnut.com/l/_34wkQDdrRQ9r
https://dl.doubtnut.com/l/_gzkFNQqJDDCK


449. Phenol can be distinguished from ethanol by the reactions with

________ .

A.  water

B. Na

C. Neutral FeCl_3`

D. All the above

Answer:

Watch Video Solution

Br2

450. Which of the following are benzylic alcohols?

A. 

B. 

C. 

C6H5 − CH2 − CH2OH

C6H5 − CH2OH

C6H5 − CH
∣

CH3

− OH

https://dl.doubtnut.com/l/_gzkFNQqJDDCK
https://dl.doubtnut.com/l/_pPFD9YnFHjJt


D. 

Answer:

Watch Video Solution

C6H5 − CH2 − CH
∣

CH3

− OH

451. In the following questions a statement of assertion followed by a

statement of reason is given. Choose the correct answer out of the

following choices.
(a) Assertion and reason both are correct and reason is

correct explanation of assertion.
(b) Assertion and reason both are wrong

statements.
 (c) Assertion is correct statement but reason is wrong

statement.
 (d) Assertion is wrong statement but reason is correct

statement.
 (e) Both assertion and reason are correct statements but

reason is not correct explanation of assertion.
 Assertion : Addition

reaction of water to but-1-ene in acidic medium yields butan-1-ol.
Reason :

Addition of water in acidic medium proceeds through the formation of

primary carbocation.

Watch Video Solution

https://dl.doubtnut.com/l/_pPFD9YnFHjJt
https://dl.doubtnut.com/l/_dDDWdzsldxQe


452. Assertion : p-nitrophenol is more acidic than phenol.
Reason : Nitro

group helps in the stabilisation of the phenoxide ion by dispersal of

negative charge due to resonance.

Watch Video Solution

453. Assertion : IUPAC name of the compound

 is 2-Ethoxy-2-methylethane.

Reason : In IUPAC nomenclature, ether is regarded as hydrocarbon

derivative in which a hydrogen atom is replaced by -OR or -OAr group

[where R = alkyl group and Ar = aryl group]

A. (a) Assertion and reason both are correct and reason is the correct

explanation of the assertion.

B. (b) Assertion and reason both are correct and reason is not the

correct explanation of the assertion.

C. (c) Assertion is correct but reason is correct.

CH3 − CH
∣

CH3

− O − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_RuNkOnxOtLZh
https://dl.doubtnut.com/l/_S7ZE92qWqKZh


D. (d) Assertion is incorrect but reason is correct.

Answer:

Watch Video Solution

454. Assertion : Bond angle in ethers is slightly less than the tetrahedral

angle.
Reason : There is a repulsion between the two bulky (-R) groups.

Watch Video Solution

455. Assertion: Boiling points of alcohols and ethers are high.
 Reason:

They can form intermolecular hydrogen-bonding.

Watch Video Solution

456. Assertion : Like bromination of benzene, bromination of phenol is

also carried out in the presence of Lewis acid.
 Reason : Lewis acid

https://dl.doubtnut.com/l/_S7ZE92qWqKZh
https://dl.doubtnut.com/l/_MY8STcDsj6Ry
https://dl.doubtnut.com/l/_15Mo1E8jqgTx
https://dl.doubtnut.com/l/_I7N6qwqTACAP


polarises the bromine molecule.

Watch Video Solution

457. Assertion : o-Nitrophenol is less soluble in Water than the m-and p-

isomers. Reason : m-and p-Nitrophenols exist as associated molecules.

Watch Video Solution

458. Assertion : Ethanol is a weaker acid than phenol.
 Reason : Sodium

ethoxide may be prepared by the reaction of ethanol with aqueous NaOH.

Watch Video Solution

459. Assertion : Phenol forms 2, 4, 6 - tribromophenol on treatment with

 in carbon disulphide at 273k.
 Reason : Bromine polarises in carbon

disulphide.

Watch Video Solution

Br2

https://dl.doubtnut.com/l/_I7N6qwqTACAP
https://dl.doubtnut.com/l/_VNqD9mIXKIXk
https://dl.doubtnut.com/l/_9u5ah0ti18cS
https://dl.doubtnut.com/l/_fNs8vmSF6gIy


460. Assertion : Phenols give o- and p-nitrophenol on nitration with conc.

 and  mixture. Reason : -OH group in phenol is o-, P-

directing.

Watch Video Solution

HNO3 H2SO4

461. Write chemical reaction for the preparation of phenol from

chlorobenzene .

Watch Video Solution

462. Predict the product of the following reaction : 

Watch Video Solution

CH3 − CH2 − CH2 − O − CH3 + HBr →

https://dl.doubtnut.com/l/_fNs8vmSF6gIy
https://dl.doubtnut.com/l/_n3t5NpTQhjcp
https://dl.doubtnut.com/l/_rHcjICQRE7Kh
https://dl.doubtnut.com/l/_j8I5U5pwMKeW


463. Why di-tertiary butyl ether cannot be prepared byWilliamson’s

synthesis ?

Watch Video Solution

464. Which of the two, phenol or o-nitrophenol more acidic and why?

Watch Video Solution

465. What is the order of reactivity of  and  alcohols with sodium

metal ?

Watch Video Solution

1∘ , 2∘ 3∘

466. How will you convert : Propene to propan-1-ol .

Watch Video Solution

https://dl.doubtnut.com/l/_zszEPGwhdXQG
https://dl.doubtnut.com/l/_WgwHhg4hFPa3
https://dl.doubtnut.com/l/_Nu4hTakTyDFx
https://dl.doubtnut.com/l/_QJrniJuu4HzF
https://dl.doubtnut.com/l/_XpB2hLhu7VoW


467. How will you convert phenol to salicylic acid ?

Watch Video Solution

468. Write the IUPAC name of the following :

Watch Video Solution

CH3CH2OCH(CH3)CH2CH3

469. Discuss the reaction and mechanism of acidic dehydration of ethyl

alcohol to prepare ethene.

Watch Video Solution

470. Which of the two :  or  is more acidic and why?

Watch Video Solution

C6H5OH C2H5OH

https://dl.doubtnut.com/l/_XpB2hLhu7VoW
https://dl.doubtnut.com/l/_RMZjd290KAwj
https://dl.doubtnut.com/l/_JYys5U67Mp56
https://dl.doubtnut.com/l/_ri5VwjO3zu4s
https://dl.doubtnut.com/l/_bW1z00DAzfKS


471. Cyclic  has five isomers. Write their structure and names.

Watch Video Solution

C4H7OH

472. Write the equations involved in the following reaction : Kolbe’s

reaction.

Watch Video Solution

473. Write the equations involved in the following reaction : Reimer

Tiemann reaction.

Watch Video Solution

474. Write equations of the following reactions : 

Friedel-Crafts acetylation of anisole.

Watch Video Solution

https://dl.doubtnut.com/l/_bW1z00DAzfKS
https://dl.doubtnut.com/l/_66ghCMFeBD8x
https://dl.doubtnut.com/l/_YHrZYkKvjkBE
https://dl.doubtnut.com/l/_sqVVhcfPjNOo


475. Write chemical equations for the following reaction : Bromination of

phenol.

Watch Video Solution

476. Write chemical equations for the following reaction : Sulphonation

of phenol.

Watch Video Solution

477. Give chemical tests to distinguish between Methanol and ethanol .

Watch Video Solution

478. Give chemical test to distinguish between the following : 1-Propanol

and 2-propanol

Watch Video Solution

https://dl.doubtnut.com/l/_4vN2K6PfNjNe
https://dl.doubtnut.com/l/_f8nZq5XmVCrd
https://dl.doubtnut.com/l/_IGo1UVWXdbmG
https://dl.doubtnut.com/l/_nOOvPLvIzyb9


479. Express  in roman numbers.

Watch Video Solution

3336

480. How will you convert the following : Propene to propan-2-ol.

Watch Video Solution

481. How will you convert the following : Phenol to benzoic acid.

Watch Video Solution

482. How will you convert the following : Propan-1-ol to propan-2-ol .

Watch Video Solution

https://dl.doubtnut.com/l/_nOOvPLvIzyb9
https://dl.doubtnut.com/l/_5wVCWu2JVCZT
https://dl.doubtnut.com/l/_PvX4FvzfWUL6
https://dl.doubtnut.com/l/_tL9CE2g77gGv
https://dl.doubtnut.com/l/_OXrqkKheRCMu


483. Ethers possess a dipole moment even if the alkyl groups in the

molecule are identical. Explain.

Watch Video Solution

484. The Boiling Point of ethers are lower than isomeric alcohols why ?

Watch Video Solution

485. Why are ethers relatively inert compounds ?

Watch Video Solution

486. Explain how does -OH group attached to a carbon of benzene ring

Activates it towards electrophilic substitution .

Watch Video Solution

https://dl.doubtnut.com/l/_avOokVDsZuV9
https://dl.doubtnut.com/l/_BAijAcJR1EG6
https://dl.doubtnut.com/l/_8vAm3vLYF74u
https://dl.doubtnut.com/l/_3Z2Ettrj2Wlv
https://dl.doubtnut.com/l/_cFoHdyLNzMhO


487. Discuss the oxidation of alcohols.

Watch Video Solution

488. What is meant by hydroboration -oxidation reaction . Illustrate with

an example .

Watch Video Solution

https://dl.doubtnut.com/l/_cFoHdyLNzMhO
https://dl.doubtnut.com/l/_GkFmqpyjZTXZ

